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Topic:- Child Development & Pedagogy (CDP)

1) Comorbid means: / BHIaS (FgSWrdr) T 3 8:

1. Tt describes a disorder or condition that may co-occur with another disorder or condition. / g Th fapR

7 fRUFS 71 9ui B g o fheit 3= fapR a1 fufa & Ty g1 ghar g

2. A condition can appear independently and have a detrimental effect on performance. / ﬁé@lﬁf Wda
FY Y TP 51 Gl ¢ IR TaRA W GRS THTE STd Jobell 5

3. A cognitive impairment can shorten lifespan. / HIFITH® g1H SlfaaTd Pl BIcT HR Jadl| %l

4, None of these. / '5’=|'J§[ T ﬁ_sf:rsﬁl

Correct Answer :-

o It describes a disorder or condition that may co-occur with another disorder or condition. / Ug U fapR

1 fRuf o1 guiH Har & S forelt o= faeR ar fRufar & a1 g Ipan g

2) What is the second leading cause of death in adolescence? / f=IRTawT & g Bl 1 U9
PR FT §?

1. Road traffic accidents / S I §‘€T27|Tef
2. Suicide / STHG AT

3. Psychosis /leﬁﬁﬁﬁ
4. Drug overdose / ST NGRS

Correct Answer :-

e Suicide / THs T

3) UDL stands for . /| TEIq F1 faga = v gl
1. Universal Developed Learning / gAadd Saaws @f1

2. Universal Dynamic Learning / %ﬁd{;ﬂ ST W

3. Universal Design for Learning / le\lr'\‘ld{-lrﬂ SSIES TR AT
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4. Universal Disadvantages of Learning / l-(lj'\‘ld‘{-‘I”ﬂ fexsdics 3 @i

Correct Answer :-

+ Universal Design for Learning / ‘{[ﬁ?ﬁm ESIESINSIRY

4) The meaning of gestalt is
1. Excitement / 3Te
2. An integrated whole / ?I'Q[Uf TDHIHT

3. Perception / YRTI

4, Insight / GR'I%@

Correct Answer :-

+ An integrated whole / F{Uf Th BT

5) According to Piaget's theory of cognitive development, complex thoughts form during the

. | TS & Symrere [erare Rigid & 3R, sikafaar % SR ama 81
1. Pre-operational stage / @-W ST

2. Concrete Operational stage / H\?fﬂﬁo—qm HIR[T

3. Formal Operations stage / Wﬂm ST

4, Sensory Motor stage /ﬂéa‘”mﬁaaw

Correct Answer :-

¢ Formal Operations stage / SMTRes Tfsam it

6) According to Kohlberg’s theory, at what level does the child adopt rules? / ﬁa—anf% Rigia®
SR, =1 6 TR W fraw & Werars?

1. Universal ethical principle orientation / Hﬁ"-ﬁm % ﬁ{@'l?f WW
2. Post-conventional level / TY-URANRS TR

3. Pre-conventional level / @-WW RS

4, Conventional level / TRARD TR

Correct Answer :-

« Conventional level / TRARNG TR

7) According to Urie Bronfenbrenner system is the small immediate environment the child

%vesin./wﬁhW%amm JUITel 98 BICT I~ araTaR vl & forad a=ar gar
|
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1. Macrosystem / ApiReH

2. Exosystem / TRy
3. Microsystem / In's'aﬁﬁm
4, Mesosystem / TIRRCH

Correct Answer :-

« Microsystem / ATSHIRICH

8) What is used to determine eating disorders? / T & IR w AuiRa s & ﬁ'ﬂ!,' T AT
fparsmar 82

1. Weight index / HR JBIDH

2. Weight mass index / HR ST JIhich

3. Body mass index / IR oI i

4. Body height index / TR $2T8 i

Correct Answer :-

« Body mass index / TR GoHHT YAbih

9) What term best describes a child’s difficulty in learning a new way to do a task he has already

learnt? / 98 UG SN Uh 9= ] UH U1 Gl Wg= # 31 aTell SIS &1 qad 33T guid
BT 7, 9l 39 Ugd 9 g drar gan g2

1. Proactive interference / W%’W@U

2. Retroactive interference / UﬁTﬂTCﬂ gway
3. Cue-related interference / Ghd-Ha1ed gXI&Y

4. Semantic interference / TG Wi%'q

Correct Answer :-

o Proactive interference / WWW

10) What task did Piaget give children to understand their hypothetical-deductive reasoning? /

foare 3 = @1 9P FTUD- FRHATHS 9% &) IHsH & fore oa1 ol fan
1. Pendulum experiment / a—g'ﬂ'q BT AR

2. Bobo doll experiment / CIC] 1:[%tﬂ BTN

3. Visual cliff experiment / €Y g T

4. Shadow experiment / STUT TN

Correct Answer :-
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¢ Pendulum experiment / atf'ﬁﬂ:[ BT AT

11) What does the theory of learning by Insight mean? / G (141g0) & AT § A &
Rria &1 o T 32

1. Learning which requires higher order mental processes like thinking, reasoning and intelligence. / S{feRTH

¥ fom foarR, o SR S SRit S H iR AFRTE uitharsl &t sra<adsdl g g1

2. Learning by trial and error where problem solving is characterized by repeated, varied attempts which are
continued until success. / T 3R FfC GRT SHTATH H3AT gt THAT &1 A T gRT IR-IR g
AT T AR &, S qoherar de STR) 3G & |

3. Learning that occurs by observing the demonstrations given by an expert and imitating his movements. /

ST S U foRIoS GRT 4T 71U Wadl &1 48 3R 3% YR ST $I 46 d PR 9 gl g

4. A type of learning or problem solving that happens all-of-a-sudden through perceiving the relationships
of various parts of a problem and understanding the situation. / Ych YHR & ST 1 GO Bl g
BT SN ol e o faftiet fRl & Tefell ol g SIR 39 fRUF &1 wHe & wrew ¥ S
g & |

Correct Answer :-

» A type of learning or problem solving that happens all-of-a-sudden through perceiving the relationships
of various parts of a problem and understanding the situation. / T YHR & SHTTH a1 T B g
AT S forelt o o fafts fowdt & waiel ol wre ok 39 RUfd 31 gHeH & meqd ¥ saHd
gl g

12) Name the disorder that causes lack of attention. / 3 Ceardkak it CLILY S T B P BT
PR AT 82

1. Dyslexia / AHABR mm
2. Dyscalculia / %Wﬁ'lm

3. Dysgraphia / fSanftean

4. ADD/ADHD / USIS! /TSIT=a]

Correct Answer :-

« ADD/ADHD / TSIg] /ugiu=ret

13) Which model, proposed by Albert Bandura, explains human functioning and personality as
caused by the interaction of the behavioral, cognitive and environmental factors / 3T CERUEIN

TRATAd DI AT Aled IdgR, U 3R TaiaRug ®R$| & IR f3par & YR IR 79
BT 3R Afkicd B TS BT 82

1. Self-efficacy / STH-THTGHIIRT
2. Reciprocal determinism / RN FHafdaare
3. Trait theory ) faad i
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4, Sublimation / $HEAUTdH

Correct Answer :-

+ Reciprocal determinism / URER® (Aafddig

14) Which of the following promotes the recurrence of a behavior? /Fefafaad I e Udh

HIER $t TRIGRI DI Fe1aT a1 82
1. Reinforcement / Hq—cf?l:[

2. Latency / YUl
3. Chunking / T

4, Punishment / &

Correct Answer :-

+ Reinforcement / Qﬂa‘ﬂq

15) Which of the following theories focuses on processes involved in perceiving and handling

information?/mﬁﬁﬁqmmmaﬁﬁm mmﬁwmmﬁﬁ
e ufharsii W s 82

1. Information-processing approach / FEFIT-W SUNTH
2. Social-contextual approach / ITH1STh-UrE RIS IUNTH

3. Socio-cognitive approach / TSI GRS SURTH

4. Psycho-sexual approach / e T SUrTH

Correct Answer :-
« Information-processing approach / W—W SUNH

16) Which of the following is one of the components of ideal mental health according to Jahoda? /

fFafifEd #§ 9 919 J1eiel & AR e AFRIS WA & geo] d 9 Th 82
1. Dependence / fRar

2. Separation from society / THTST ¥ ST §IHT

3. Freedom / Tci=Idll

4, Positive attitude towards oneself / TT & Tfd YBRIHD ?W'UT

Correct Answer :-

« Positive attitude towards oneself / ¥ & Ufd YPRIHD E@aﬂw
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Which of the following statements best describes the Zone of Proximal Development? / ﬁ'ﬁmﬁﬁ

T DI I YT THIUR FIBTH & &3 BT o 33T 90 Bl a2

1. The difference between what a learner can do without help and what she or he can achieve with guidance.

/ T TRreniffsmT gerar & I B Thdr/Tdhdl g 3R ARfeRi— & IY-T1Y 9 T 81T B Tdbdl/
Thd 8, IUP &g BT 3|

2. Academic, Knowledge based tests gauge the intelligence. / (BTG IH®D, T TR Tteron & m
&1 Ul Il g |

3. The child develops the required skills on his/her own. / S 3 TH TR TIRTSH DI (A RId Bl

gl

4. Discover everything on own. / 99 & WY HECISESE

Correct Answer :-

« The difference between what a learner can do without help and what she or he can achieve with
guidance. / U RiemdifsmT Tgrrar & o1 R Jhdl/Ihdl § 3R ANeRF & JY-91y 98 7 g1
TR THA)/THdl §, TP a1 B 3R

18) Which of the Thorndike’s laws emphasize preparedness? / QI'F[?:'IEE BT S i=-a1 foraw danfeay
W SR 182

1. Law of Exercise / 3% &1 [MIH
2. Law of Effect / UHTd &1 fFaH
3. Law of Multiple Response / g gfafear &1 faa

4, Law of Readiness / Ga=dl &1 a9

Correct Answer :-
« Law of Readiness / IRdl &1 (TH

19) In scientific investigative learning method, ./ %wﬁw 3@ TS SIFERTH tlc?xﬁfﬁ,

1. children discover the scientific idea completely. / & &1 aqTH® fFaR TH TRE | Ul Fad g1
2. children work without guidance. / = AR & o S Hd %I

3. teacher guides the children completely. / e/ sl o1 RIHA R W%I

4. teacher gives inputs when needed. / e/ e JS+ IR g14c é?n %I

Correct Answer :-
« teacher gives inputs when needed. / fR1er SReRd 13|39f U g14Yc gl

20) A child is watched carefully by his teachers because his friends are known to cause trouble, even
though the child has never done anything wrong. Which of the following is descriptive of this? / G
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T B ISP R GRT ST I [T AT & T d TP Gl BT ULRITHI BT HIRUT ST STl
g, ¥a g =2 A oWt o aq T8 fvar 81 FRufafaa 7 @ o 9 saer aviArers @2

1. Algorithm / THNNYH

2. Transductive reasoning / URITH qH

3. Representativeness heuristic / 3{3Tde w (T HIdDT)
4. Anchoring heuristic / JHdIT %{[ﬁm @H‘Hﬁaﬂ)

Correct Answer :-

« Representativeness heuristic / 3/%TdG %’ﬁw CSIREICEA))
21) Who are backward children? / fUBS/ dRa TR S &2
1. Slow learners / g Gﬁm

2. Delinquent learners / fa@reror SR al

3. Handicapped learners / feeai siftrmaear

4. Exceptional learners / STHTYRTT SRSl

Correct Answer :-

« Slow learners / {¢G JferTRdl

22) The last stage of creative thinking is : / YdTcHD fia= &1 sifaq wRoT %:
1. Incubation / B SHRIT

2. Verification / MU

3. Preparation / SRR

4, Evaluation / Jedie+1

Correct Answer :-

e Verification / JATUT

23) The Dalton Plan was created by: / STee- YIS GIRT aq'lg TI_S: i
1. John Dewey / \_ff\ll:fﬁ_g

2. Francis Galton / Wi Tee

3. Francis Dalton / IR STee

4, Helen Parkhurst / %éa W

Correct Answer :-

Page- 7



¢ Helen Parkhurst / %éq W

24) A student should be allowed to learn in the mother tongue as it makes easy. / ¥ BT G|

arguTeT ¥ Wem B sgufa o aiRe wifvag @ smaA sAmar gl
1. Comprehension / 1Y

2. Perception / e

3. Creation / T21 T TP

4. Reproduction / Yol

Correct Answer :-
o Comprehension / Y

25) More Knowledgeable Others and Zone of Proximal Development are the main principles of

theories on cognitive development. / 3w TFHRT iR THIuR fasra & &
TS faP™T W Rt & g1 Risia €1
1. Kolb’s / lee
2. Piaget’s/m@f

3. Dewey’s / L]

4, Vygotsky’s /HET?IT\W’QT
Correct Answer :-

o Vygotsky’s / CIEUIRSE]

26) A large number of schools do not have a provision for teacher in the school. / IEgR]

Wl e srumay g 81
1. Extra/\’rlﬁfﬁaﬂ

2. Special /ﬁﬁf@
3. Co- class / T8-TRr&
4, Assistant / Hgldd

Correct Answer :-

« Special /ﬁﬁrg

27) are the basic needs according to Malow’s Hierarchy of needs. /

ARG & TRUM & USTIHH B AaRIHdT & SR Fiardt T g1
1. Safety and Esteem / gR&l GhTGlﬂmq
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2. Physiological and self-actualization / RIS 3R SMTH-TNY

3. Belongingness and love needs / Iy SR WIR 1 STazTean

4. Physiological and safety needs / RRIR® GﬁTﬂ'\’&'ﬂaﬁ SHIGRIB AT

Correct Answer :-

« Physiological and safety needs / IRIR® Gﬁ?ﬁ?&ﬂaﬁ S hdl

28) Which of the following can a teacher not exercise to overcome misconceptions? / T

&/ Tod YRS B gR B & o 590 A fHa®T gagR A6t HR JHar
1. Immediate feedback assessment approach / deh ¢l PIGIER] 'ELF-TI?T"T B
2. Self-directed learning / 3TH eeH o e

3. Quiz style assessment both before and after a unit / Uh EFDT&FQ CI-ET@( Sﬁ? diq T U ‘\ﬁ?ﬂ Gl
™D

4. Flipped classroom approach / [ESEEZAEEAL

Correct Answer :-

o Self-directed learning / 3{TH e & drar

29) Which of the following theories is also known as modelling learning theory? /

frafafaa & 9 g Rrgia o ufasuu@Tsam iftmmm Rrgia & wu & W S San 82
1. Developmental theory / fa®wMITES (Saeuded) iR Rigia

2. Social learning theory / |THTT® SferTH Rigid

3. Transformative learning theory / TRIBIRATCd SATITH Rigia

4. Insight learning theory / 3Id=I¥ (3TT3C) 3IfATH Rigid

Correct Answer :-

¢ Social learning theory/ﬂ'l'qm 31T Rrgia

30) Thinking most importantly involves: / ﬁl‘ﬁ?ﬁmﬂ'&fﬁ'{ﬂf?ﬁ'\’ T a1 giwferd gian % ?
1. Aptitude / SR

2. Memory / @ﬂﬁ

3. Reasoning / Cd
4, Attitude / TR

Correct Answer :-

» Reasoning / LCg
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Topic:- General Hindi (L1GH)

1) I3 W g Fad TP JHWT 61 gial 31 SH THET B g B A far s @ o aecayut 8t 3w
o UR U o 9% | Ry Tt § 3 98 ¥ 3aar U §U Bl § 99 89 gHId ®8d 8 | U 9R o9 gH
Y Tt W faora w7 A € o) 39 a9 Pl it 3t 9gd €1 diwds @Y gRer gefaar
fFrafafed §: snuR aR H1 o1 g, AR &) g, Aedd I oS Asgd BT T 3T =N B
mmgﬁﬁu’rmmmmélaﬁﬁ%mwﬁuﬁﬁweﬁwﬁm%@ﬁm%@
Pl A dddaa @1 gl fIaga Oe 81 39 320 F U gl & P 5y 9w It aiedite WeR
BT B AIhdT BT YR dUR fHa1 9| T FRA | qAH AP aiD TRER Bt STTST T, JT
P OR $ T H g TG GRN R TS T AP DT RITGAT ST ST | AUTS SHPT 3BT SEGR0I
ﬁm%la{ﬂﬂmwﬁmﬁﬁm@nmwwﬁwﬁm%lﬁm@ﬁaﬁmsﬁv
gmmﬁ%gaﬁﬁaﬁmﬁﬁaﬁmmﬁ%nwﬁﬁmaﬁm%%ﬁwm%ﬂwaﬂﬁﬁﬁ?ﬁ
SR

STETAR R dieas # fawr 31 getd! gl 81§91 waad § & el qu & &= & ¥ diaifis
WPR & ayd RIgidl & AR BT 3R IYP YHTT BT TS & 83 1 3T I B 8 TRIT T Tgar|
T W=t e o1 e e USM ST, Y & g 3Ph1S B Hudle b YHTd | a1, Afgarsi $iv
IETHBIP DI GRIURT T wiisI, 3fe AR o gl & Iae:vr 81 591 I8 Haas Mg P sud o
Had W g o Awaie uihar A W R o 9d | YR iR 3Rkt S iR 331 omet Y TN @
AT R IE &1 URA # onft oft ot & ¢ T0 o ovf & et seHifae wife 1) fora urd 81 ems
W} gafTR & $© T YRA B TRIYRT A TH 0T IS 61 UK 71 T 96 A1Hdd & [GWR $1 g &
ITERT B | Tiha DI TERTS aP Hoigd B Pt gAlal BT JTHAT 8% Abaa S ST USdl 8 | SHPT Adad
2 dipad 3t uferanai 3R I BT Torgd BT

IUYT TR DI UgHR A T T Y BT 3@ Jaist|
Y : ADdiAD T TaRIT P BT BT FTE ?
1. $IA BT B o B 8 IR AP TgaH]

2. Iugad gt
3. Had AlbdiiAD IRBR b JAYd Rigial bl ARLHIAT
4. HAd WBR & YU B JHTST & g I db Ug T

Correct Answer :-

- e Tt

2) 313 W g Faa T Tun T8 giet 31 I TR Y gl BT A e sar @ o Hgayuf g iR
R UR ura 5 9% | Ry Ta § o 99 & 3ok U g B € 99 89 A Hed &1 TP IR 99 g1
et et R fora v 3% A € ) 59 ued A FEl iU oM 9gd €1 didmad 3t IT gAfar
fFrafafad &: enuR R &1 $1 I, AR B A, dibad Pt oIS Aolgd BT 3T e =) B
ST SIERT YT BT ATHAT BT usar g1 3ivft fay &1 v durd v dlpds & srgan 31 g & O
DIl § AiPpaa o1 T Aagpa e 81 37 =0 & U A € 7P oy ave @ e diedie ReRr
TETA HP Arbad BT YR IR fFa1 I | T F4 W TAAH A diiAd IRBR I @IS 81T, JT
B PR & [0 | g T 1 SR TP T Y BT RITGAT BT 1T | AT SHDT 35T SEI0T
ﬁm%lﬂmmwﬁwﬁuwm@%ﬂwmlﬂTl&EﬁWﬁEﬁW%lﬁﬁﬂ@Tﬁaﬂmaﬁ?
gmmﬁga\ﬁﬁaﬁmﬁﬁaﬁmmﬁélWmammﬁﬁﬁeﬂmaﬂwmﬁaﬂ?ﬁm
SRR

STETaR WU didad # fawR Ft gtdl 8t 81 3901 Aaaq € 5 fHlt 3 & &v 87 § dwaite

WHR & Gayd Risidl 1 AR HIAT R TS YHTT BT T & 83 9 31T I BT g YRIT qF g™
R wa=mt e @ st IfekT W™ ST, Y & 83 SPIs S Hudrg & UHEG § a1, Afgarsit o
ITRITID| Bt GRIYRT A Stg1, i AR Ft gt ¥ Iarexur §1 53971 98 Uaas N 3 fF sad o
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Hod U B o Awaitie uihar @ R R o 9d | YR iR SRt Sy iR 331 3mer Y TN @
AT P TR &1 URd A 3t oft goe A &2 00 s o @ ot werifae wifed =8 fare s 21 e
W} EiR & $ T URT 3t GRIURT A T 18 I T U1 &1 T e didpad & fawar &) gt &
ISTERT B | Tihda DI TERTS aP Hoigd B Pt gAlal BT YTAAT 8 Abas S ST USdl 8 | SHPT Adad
g dipad 3t uferanail 3R IATHT 61 Tolgd BT

ST T B TP} A D Y TR BT S@R Iyl
Y : SIGIaR R dias & fraet g eIl 82
1. e Bl

2. fodR @t

3, §AR Bi

4, TIR Bt

Correct Answer :-

. faR &t

3) @13 Wt g Saa v Tuar 8 gt 71 S T &Y g 1 A foar S @ o agagyf 8 ek
R IR urr 97 9% | R W § S g & SR g U B & 39 89 Il $8d 8 | Uh 9k 99 gv
el T WR foTa oI ) A9 § o) 89 Usd | el iU I ggd & | A @ g gAfaat
fFrafafed §: enuR TR 1 o1 g, AR 3 gHid, Sodd St oTs Asigd BT IR 3T =N i
mmﬁﬁﬁmmmm%laﬂﬂﬁﬂmwﬁu@%ﬂ?ﬁmﬁm%lgﬁm%@
Pl B APpad o1 g faga e 81 37 30 & T A @ 7 5y 9w @ e diediie ReR
TR B Albdd BT YR dUR fHar S| AT H B g0 Apdis TRBR Bt STTSHT g, AT
P WHR F AT F g¥ TG GRN R TS WA AP BT RITGAT I 1T | AU SHDT 3BT ISRV
B gar g1 3t gTa a AUt § IS §3 Bl AT 3G AU § Adpad g1 AP @ P 3aal 3R
gmmﬁgaﬁﬁaﬁmﬁﬁaﬁﬁmm%%lwﬁlﬁﬁmﬁmﬂm%%ﬁaﬂwﬁmmﬁaﬂﬁ?ﬂ
FERLE

HERR W didds § fIwR 31 o gl 81 39T Adad ¢ f5 [ 3 & g1 87 § diedite
WHR F Gayd Risial B TR HAT 3R ITD YU D TATS P g3 1 3R 3/ B g I a6 Ugar|
T TRt et @ Siftre fat WerH BT, WY P TR §PIS B Gudlg  TUTd § arEr, Afgensit siv
CRITIH| B! GRIYRT F eI, 3fe AR Ft gl F Igrevvr 1 33971 98 Haaqg i & fr su o0
B T 8l &l diedife ufsear 9 W o o1 T& | HIRd iR 3AR®T S Siftrar 31 3met 33t Al &1
YT P T & | URA A 3t oft goe d &8 09 fUss ot € ore! oo 2 J8t faa urd g1 ame
W} EiR & $8 T URT 3t GBIURT A T RE I3 71 U1 &1 T 9 dipad & R &) =it &
ISTEXU & | AP B e dP Hoigd DI B Golal DT JHAT 83 Alpad Bl HI1 Sl ¢ | SHBT AdAd
2 dieda @1 uftranail ok TR ®) Teigd BT

IR T B TgH TR TR T YA PT IR IaSy|
WY : AP DI GBI A oral T 82

1, $Id TR HH DI

2. HAW YR TIR A B

3. HId AT B S ASTEd B D

4. Iudad qaft

Correct Answer :-

- Sugaa gl
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4) &1 W TR Faa T TR e gt 81 I TR B gAY BT A0 foar shar @ o agayut 8 ok
R IR urar o "% | o Tuwr ® 31 9 & SawR gU §U Bl & 99 g9 TG $ed 8| U aR Wd g9
ot gt uR foora v 3% A € o 59 ugd @ @1 ifU® M ggd § 1 didd 3t YT gHifaar
fFrafafEd §: snuR TaR 3 B T, AR &) gHId, Aedd I 9IS Aogd ST IR 3T =N P
[T ST G BT ATHAT BT usar g | 3t fay &1 v durg e s & organ 81 g & o
DIl § diddd @1 g Aagpa e 81 37 &30 & T gHdl ¢ 7 5y @ @t diedie wReR
TETA FRP ABad BT YR IR fFa1 I 1 T FA § T @A AN IRBR I Q@IS 51T, I
B PR & R0 I g T 1 SR TP WA 1Y $T RITGAT BT 1T | YT THBT 35T SET0T
B gar g1 1t gTe a@ AuTer § e g3 HaT AT 3 AU B Aldad & | AfbT N Fi sl i
gmmﬁ%?aﬂﬁaﬁmﬁﬁaﬁaﬂmﬁ%lwﬁ&ﬁwmﬁm%%ﬁmmﬁuﬂmﬁﬁﬁ?ﬁ
SERRE]

STGIAR R dieda # fawdrR 31 gHTdl gl 81 §H1 Aaad ¢ & fobell Gu & &= &= | diwdifis
WHR F Ay Rigial B TR HAT 3R ITD UHTT S TATS P 83 I 3R S/ B 8 IRAT T Ugar|
T e Pl Bt oiftre Tifed Uer &3, T & &< SH1S 31 Tudig & THIE § o, Aftensh ok
SCIHBIH DI GIURT | S1sI, fe AR o1 gl & Iaevr 81 5901 I8 Haas M g S sud o
Had U B Sl diwaitie Tihar A uR o o 9dv | UIRd 3R SRt St Siftrerar 331 Siret gt Al &t
AT AR IR &1 WRA # onft oft et & % U9 s of © ! werifae wifea 1) e ors @1 eme
W} QER & $© T YRA & TRIYRT A TH 0T IS 61 U 71 T 96 AP & [OR ST gt &
ISTEXUT 3| TBd DI eI aP Toigd B B Fildl BT THAT 63 Aiba B ST USdT ¢ | ITBT Aaad
T Awaa @1 uferansil SR TR &1 Toigd ST

ST TR $ UGHR -1 U T U= BT Ik qarsel
wy : URd # ot oft o s oot o aar =&Y firer uran/uig & 2
1. I Qfdd

2. 399 Y P8 TRl
3. 3Mfdfes Aamem
4, IS G

Correct Answer :-

. SHIfa® iad

5) B3 W TR Faw T T 8 St &1 I TR B g BT A e war @ o Heayuf 8 iR
o UR U 91 s | o S § S g & 3wk QU U B § S9 86 gHId! $8d 8 | Uh IR 99 gH
ot gt wR faorg w37 A € o) 59 Ued A $El ifte M agd €1 diead 3 Yoy gAfar
Pl &: snuR R & F1 T, AR &1 AR, diddd P o7 Aoigd BT AT (e =0 B
[T ST G BT ATHAT 1 usar 2| 3t fay &1 v Durg e dfwas & organ 81 g & o
Pl A diwdad @1 gl fiaga e g1 39 3= & Ut Al @ o fra ave @ ue diedite mReR
BT FRP Abad BT YR IR fFa1 S| T FA H T AP dis ISR I @IS 81T, JT
B WHR P AU I G @ I SR TP WA Y P71 RITGAT AT G111 AT THPT SST SEIGR0
gl adar 21 3t gTa a% Aura | et gl Rl AT 3d AT H A 8 | Afe aRN i sl o’
?mgmﬁmﬁﬁaﬁmmﬁélsﬂﬁ'&ﬁwmﬂmﬁ%ﬁmmwaﬂﬁaﬁﬁ
SeREE]

TGIAR R dieds # fawar 31 gAtdl gl 81 $HeT 7aad g & fobell 42 & &% &7 | diedifas
WHR F Gayd RIgial B TR HAT 3R ITP YHTT S TATS P 83 I 3R S/ B T YRAT T Ugar|
R T FreTal ) it iRt U BT, WY & 8 PIS b AudIe b THE A AT, Afgarsi ok
SEHBIP DI GRIURT F wiisI, fe AR o1 gl b 331601 81 5901 I8 Haas M g Fsud o0
THad T g o Aeaite ufrar @ W R o1 9 | YR 3R 3AR®T S siftrpar &= omer 330t At @
JAAT PR &1 R A 3l ot goe # &2 T s o € Rme! wermifae wifea =8 fra urg 81 eme
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W} EiR & $5 T URT 3t JOIURT A T TRE I Tl U1 &1 T 99 Aidhad & AR &) it &
TISTEXUI & | ADd B TERTS dP Holgd DI B Grlal BT JHAT 8 Aibad Bl ST ST ¢ | SHBT AdAd
® ihea Bt uftharalt 3k TR B Horgd BT

ST TR $ UGHR -1d IR T U= BT ¥ qaqrsel
wy : 3l fay & fram i & Aipaa T @2

1. ST TS

2. T AT

3. 4 faere

4, S AU

Correct Answer :-

. TP YR

6) ®IS W T Fad T JuT 61 Sidl 81 I T F gl BT A o S @ o Heayuf 8 8
o UR T o 9 | Ry T § 3 984 & 3aa’ U §U Bl § 39 8H g $ed @ | TP 9R oid gH
o) et wR faora v 3% A € 1 59 Ugd | Fel ifte 3T 9ed €1 diwad 1 gt gAifear
fFrafafEd §: snuR TaR A 31 g, RER 3 gHd, Aedd P oS ASTgd BT IR 3T =N B
SET S(ET Gl BT AT BT gsal 2 | 31l fay &1 U <iurs e diwad | orgar 81 g & 39
FI1 A dddad @1 gHId! [Iaea Ge g1 59 30 & T Hidl & fF 5y @R I @ aiedite wReR
TETA TP AIhda BT YR dIR fHar o | T F B qda AIPpais TSR Bt STTST 1T, JT
P HR $ FRFAV F g TG SR R TS T AP DT RITGAT HIAT ST | AU SHDT 35T SGTER0I
B aan g1 3l gTe a@ AuTer o IreTa g8 Hal U1l 3« AT B Aldad g | AfbT R 3t sl iR
gmmﬁ%?aﬂﬁaﬁmﬁﬁaﬁmmﬁélwﬁﬁﬁwwﬂm%ﬁﬁmmﬁmaﬂ%ﬁgﬁ?ﬁ
SEREE

TG WU didpds # fawdR @t gl gl ¢ | SHPT Haad g (% bl 4% &b &% &7 A Apdi®
WHR & FaYd Rrgidl & TR HAT 3R ITP UHTT B JHS $ 83 I 3R I Y g IRIT 9P g™l
YT W= el @t arfire e TaT ©31, TY & Y SIS &) Hudie & THTT § a1, Afgansi ofiv
SETHBIH DI GRIURT | SiisI, fe fawarR ot gl & 36T 81 5961 I8 Haas M g P sud o
Had U gl ol Awaie uihar A R R o 9d | YR 3R 3Rkt S st =1 3mer =Y eIt @
I R 32 21 URA # ot oft o & % T s ovf © Rt Terifae wifed 1) o ors 81 ome
W} QER & $O I YRA & TRIYRT A TH 0T IS 61 IR 51 T 96 AIHdd & (IR BT g &
ISTEXUT 3| ABd DI TGI8 aP ToIgd B B Fldl BT AT g3 Albad B ST USdT ¢ | ITBT Haad
2 dipad 3t uferanail SR I BT Torgd HRATI

ST TR B Tge} A1 TR Y U $T SR Taqi5yl

w9 2 3l oft TETR & 9o TS50 HRT B fPT YR A T e TE § 2
RCIGEDIN]

2. ST R

3. TBIYRT

4, UHd URT

Correct Answer :-
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7) @IS W TEH o T qun 8 git &1 I IR Y g BT A e whar @ o geayuf 8 iR
O IR uran o1 W | Ry TR A S 9ga & SaeR gU §U I € 3W gH YA hed &1 U IR od g1
ot gt wR foora v 3% A € ) 59 ugd A $El e 3 dgd § 1 dimad 3t YT gHfar
fFrafafEd §: snuR TaR 3 B T, TR 3 gH, AP I S Aoigd ST 3R 3T =N I
[T ST G BT ATHAT BT Usar 2| 3t fay &1 v durg e dfras & organ 81 g & o
DIl § diddd @1 g Aagpa e 81 37 330 & T gHll ¢ 7% 5y 7 9 te dediie ReR
TETA HRP Abad BT YR IR fFa1 I | T FA § T0H AP diD ISR I Q@IS 81T, I
B WHR P A0 I G @ I SR TP WA Y P71 RITGAT AT G111 AT THPT ST IGI6R0
B awar g1 3t gTe a@ AuTer A e g3 HaT AT 3 AU B Aldad 8 | AfbT N Ft sl 3k
gmmﬁgaﬂﬁﬁmﬁﬁaﬁmﬂﬁ%lwﬁﬁﬁwaﬁm%%ﬁmm%ﬂwmﬁaﬂﬁ
SERGE]

SIGTaR WM Aidad ¥ fawarR ot gHldl gidl 81 39®T Aaad ¢ & Bt 33 & &¢ &7 § diwdaite
WPR & FaYd Rgidl & TR BT 3R ITP UHTT B JHS P g3 91 3R I P g IRIT 9% UgArIl
RITHT Wd FreTal @ St TR T $31, §9 & 8% 3H9TS $) Hudie & YHE § ar, Afearsit ok
SETHBIH DI GIURT | wIsI, 3fe AR o1 gl b 33601 81 5901 I8 Haas M g Fsud o
Haa T gl o Awdaiite ufhar @ W R o1 9| YR iR 3AReT o=t eiftrpar §=1 oner 3=t At &
IR PR &1 R A 3l oft goe # # T ss it € Rme! worifae wifad =8 fra g 81 e
M galR & $© T HRT B FTOIURT A T RE s 61 U1 §1 T Ia Wcbd & GwR &1 gt &
ISTEXUT § | ABd DI TERTS aP Toigd B B Frlal BT THAT g3 Alpad Bl ST USdT ¢ | ITBT AqAd
2 dipad 3t ufsranai 3R IR o1 Torgd BT

Sue TR B UgHR H19 TR T U BT I} 15T
Y : AT § $ A1 et AR § ?

1. ASTb Y

2. ot

ACRE]

4, AihaA

Correct Answer :-

8) ®I3 Wl I Pad TS THWT el gial & | ST THT B T BT A1 a1 e @ o Aeayul 81 8iv
o IR urn &1 % | oy e § 3 gt & SrawR @ U S § S 86 gHidl $8d 8 1 U IR 99 gd
fordt Tt TR faora e 3% A € o 89 Usd | wel it 3t 9gd €| didpad B gReT gAifaar
fFrafiafed &: snuR R B 31 TN, AR &1 AR, dbdd B o7 Aoigd BT AT (e 3= B
[T ST GG BT ATHAT BT Ui 2| 3t fay &1 v Aurg R dfewds & organ 81 g & ¥
Pl A dwdd @1 gl fiaga e 8139 3= & Ui Al @ f fora @R @t aiedite wReR
TETA PP AIPaT BT YR dUR Ha1 TR | TFT FA T TAUH S[ABAiAD TRPR B SWTST eI, JT
B PR & R | gR T SR R TP WA Y BT RITGAT BT 1T | AT THBT ST SET0T
gl aar 21 3t gTa a% Aura | el T Rl AT S AT H Aipad g1 Afe aRl i sl $iv
gmmﬁgaﬂﬁﬁmﬁﬁaﬁmm%lwﬁﬁﬁmaﬂﬂm%ﬁﬁaﬂmﬁmmﬁﬁgﬁ?ﬁ
FERCE)

HTETaR W didaa § fawaR 31 gHldl gidl 81 3961 7aad g & [0 3w & o &7 § diwaite
WHR F Gayd RIgial B TR HAT 3N ITP YHTT S AT P 83 I 3R S/ B T IRIT T Ugar|
T TRt et @ siftre ifad UeT -1, WY & TR §H1S B Hudie $ guTd 8 @i, afgans eiv
ICRITID| Bt GRIURT A Sg1, 3fe fIwar $t gt ¥ Igrexvn 1 591 98 Uaas M 2 fr sudoa
THaa T g & Awdaite ufsrar @ R R o1 9| YR 3R 3RSt S siftrpar S=1 emet 33t AT @
AT R 3B & | WRA & onft oft ot & 5 0 Rrss ovf & e weHifae wife 1) fora urs 81 e
1 TaiR & $© TS0 YR &1 TEIYRT A T @18 I 781 UN g1 ¥ 94 didds & faR & gl &
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ICTERVT & | ANBAA B TERTS qh ToIgd B DI Al BT JTHAT 8% Alpad I BT USdT 8| SHDT Idad
? dida @1 ufshanail iR TR &) Hoigd BT

SR TR P UGH -1 I T U= HT Ik Jarsy|

uY : Aure 3t wipda & R w1 FUR B3 B gHifaal A S TETR ?
1, 3UR

2. ST

3. AT

4. Fda

Correct Answer :-

o 3UR

9) P13 W TN Faa v T T8 St 31 I IR T gAY BT A o wrar @ o Hgayut 8 iR
o IR urar o T% | R Tuwr ® 3 9e % 3awR g §U Bl § 99 g6 Tl $ed & | Uh IR Wd 89
foeft gt R forg v 9% A € o) 59 ugd A FEl iU M 9gd ¥ diedd 31 g7 gAfaar
fFrafafad &: snuR R & F1 g, AR &1 A, diedd St o7 Aelgd BT (T (e =0T B
ST SERT T BT ATHAT HAT gear 21 3ivft fay &1 v Durs v dwpas @ organ 81 g & o
DIl § diddd @1 gl [Aagpa IE 81 59 =01 & U gl ¢ 1% 5y 9 A U diddiie WeR
BT HRP Abad BT YR dIR 51 S| T/ H3 § TG0 A did IRBR I Q@IS g1, T
DY IRPR & [0 | G TSI SR TP T Y BT RITGAT BRAT G111 | TUT THBT ST IGT0T
g gaar 21 3t 8T a% AuTa | oI T Bl ATl 39 AT H Aipad 8 | Afp A Y airaal $iv
gmmﬁgaﬂﬁﬁmﬁﬁaﬁmmﬁélwﬁﬁmaﬁﬁﬁa%%ﬁmmmwﬁﬁﬁ?ﬂ
CEREE

TGN RITUT Aiaa § fawdR B gl gl ¢ | SUPT Haad g 1% [Pl 4% & &% &7 & arpdi®
WHR F GaYd Riial B TR BT MR ITP YHTT B AT P 83 I 3fIR I B T YT T UgaHI|
g TRt e @ siftre =ifad UeT -1, Y F TR 3HTS B WudIg & guTd  arEn, afgensi oiv
ST EIP! DI GRIURT T SisI, 3f AR &1 gl & Serev &1 39HT I8 Haas i § S su o
THaa T g &l dedite ufear @ W R &1 9& | YR 3R 3AR®T 9 eiftrpar =1 omret g3t gt &1
JAAT PR R &1 URd A 3t oft goe A & 09 o o € RFe! werifae wife =8t fare urd 81 et
W} EiR & $8 I URT $1 JOIURT A T 1T I3 Tl U8 &1 T 99 didpad & QR & gt &
ISTEXU1 & | ADda DI e[S aP Toigd B B Grlal DT FHAT 83 Aibad Bl ST USdT ¢ | FHBT Aaad
2 diwda @t uferanail Sk TR &1 Toigd BTl

I RIS HT UGHR -1d T T U=F T Ik qarsel

Y : FIhda BT STUR, BT IWHR dUR H TPl @ ?

1. Y A

2. 5H 4 PIS T8I

3. A di®

4, TSIRAMT

Correct Answer :-
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10) I3 ot T Faa TH THRAT A1 Tl & 1 S TR B A B1 AT T Srar § <Y Hew@yyl 8
3R R UR urT o W | R TH & S 969 &SGR 90 §U B € 99 oW gHId) $8d &1 TP aR o
&9 freft ATl wR forora wie 7 o § o 59 Usd & el iU SR ggd § | s ot geT gAtaar
fFrafafEd §: snuR TaR 3 B T, TR 3 gHId, NPT P 9IS Aogd ST (T 3T =N I
[T ST G BT ATHAT BT usar 2| 3t fay &1 v durg e dfwas & organ 81 g & o
FIHl § diddd @1 g Aagpa e 81 37 330 & T gHll ¢ 7% 5y 7 9 1o dediie ReR
TETA HRP ABad BT YR IR fFa1 S| T FA § T0H AP did IRGR I @IS 81T, JT
B WHR P AU I G @ I SR TP WA Y P71 RITGAT AT G111 AT FHPT ST SGT6R00
B awar g1 3t gTe a@ AuTer A e g3 HaT AT 3 AU B D 8 | AfbT N Ft sl ik
gmmﬁ%fﬁﬁﬁmﬁﬁaﬁmmﬁ%lsﬂﬁﬁﬁwa{tﬂiﬁw%%ﬁmmﬁﬂwmﬁaﬂiﬁ?ﬁ
SERGE]

STGTAR R Aidad ¥ fawar ot gHldl gidl 81 39®T Aaad ¢ [ Bt 33 & &v &7 ° diwaite
WPR & FaYd Rgidl & TR BT 3R ITP UHTT B JHS P 83 91 3R I P g IRIT I g™l
g Wt el @) sifte wfed UgH $A1, TU & g1 ShTs &) Gudie & THTE | a1, Afgansil 8w
ST TIH DI GRIURT | SiIsI, 3fe AR o1 gl b 33601 81 5901 I8 Haas Mg Fsud o
THd T g1 & Awdaite ufhar @ W R/ o1 9| URd iR 3AReT 9=t eiftrpar &=1 oner 3=t At &
IR PRI IR &1 URA A 3t ot goe A 32 T s it € Rme! worifae wifaa =8t faa g 81 eme
W gaR & $© T HRT B FTOIURT A T RE G 61 U1 §1 & 99 ibda & fGwR &1 gt &
ISTEXUT § | ABd DI TERTS aP Toigd B B Frldl BT FHAT g3 Alpa B ST USdT ¢ | ITBT Aaaqd
2 dipad 3t ufsranail 3R IRATAY o1 Tolgd BT

SUYe T B UgHR F14 TR T U BT Ik 15T

Y : P b IR B FAIE) ¥ TE U H19-9 3 S IR & ?
1. $74g 3R St

2. YR 3R 3R

3. %9 3R geh

4, TG SR SBMHwaH

Correct Answer :-

« YRd 3R @R

11) &3 W T Fad T TUEAT 1 BIelt & 1 I TATT Bt gl o1 A1 far Sirar § < gewagut @t
IR O UR U o Wb | forRT auan | SRt 9gA & AR U gU B € 99 §¥ YHldl Bgd 3| U aR o
79 fedt Tt oR fasra v o% A4 & dt 59 usd | Bt Siftie i ged &1 didmad Ft g gHifaar
fFrafafed &: snuR R & 31 TN, AR F1 AR, dibdad P o1 Aoigd BT (AT (e =) B
[T ST G BT ATHAT BT Usar 2| 3t fay &1 v Aurg i dfewds & organ 31 g & ¥
Pl A dwdd @1 gl fiaga e g1 39 3= & Ui gHial @ f fa ave @ ue diedibe wReR
TETA PP AIPaT BT YR dUR fHa1 TR | I FA T TAUH AP AiAD TRPR B SWIST eI, JT
B PR & R0 I gR T 1N R TP W Y BT RITGAT BT 1T | AU THBT ST SEI0T
gl ar 21 3t gTa 9% Aura | el T Rl AT 39 AT § Aipad g 1 A dRN 3t sl $iv
gmmﬁgaﬂﬁﬁmﬁﬁaﬁmmﬁ%lwﬁﬁﬁmmtﬁm%%ﬁaﬂmﬁmmﬁaﬂgﬁ?ﬁ
FERCE)

HTETaR W ddaa § fawar 31 gHldl gidl 81 39%T 7aad ¢ f [0 3w & - &7 § diwaite
WHR F Gayd RIgial B TR HAT 3N ITP YHTT S AT P B3 I 3R S/ B T IRIT T Ugar|
g et el @ eifte ufed Ue $A1, TU & TR 3H1S &) Hudle & THTd & o, Afganai 3w
IERISIP| Bt GRIURT A g1, 3fe fIwar Ft gl & Igrexvn &1 5971 98 Uaas M 3 fr sudoa
THaa T g & Aedaite ufsear @ R R o1 9% | YR iR 3RSt S siftrpar S=1 3met 330t AT @
AT R I8 & 1 WRA & onft oft ot & 5 00 Rrss of & ! seHifae wifea 1) o urs 81 e
1 TaiR & $© TS0 YR &1 TEIYRT A T @18 I 78l U 1 ¥ 94 didds & faaR & gl &
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ICTERVT & | ANBAA B TERTS qh ToIgd B DI Al BT JTHAT 8% Alpad I BT USdT 8| SHDT Idad
? dida @1 ufshanail iR TR &) Hoigd BT

ST T F UGH 1 [ T =9 T Ik T3¢l
wy : R o § 3 9e1 F 2awR g §id § 39 w1 Ped 82
1. g adl

2. Kgld
3. 3 ddl

o T

Correct Answer :-

12) 13 ot g Faa ve a1 gt {1 S THn B A B A far Srar & <Y weayyf 8
3R R UR uraT o W | o o A S 9g9 & 3w gl §U 1A € S §H T Ped &1 U aR o
79 et gt IR fororg v &7 o € f 89 Ugd & Sal Sifd S ged § | i ot gt gl
fFrafafad &: snuR R & F1 g, AR S A, diedd St o7 Aolgd BT 3(RT (e =0T B
ST SERT TN BT JTHAT BT gear 21 3ivft fay &1 v urs v dwras @ organ 81 g & o
DIl § diddd @1 gl fAagpa I1F 81 37 =11 & U gl ¢ 1% 5y 9 @ U diddiiae WaR
TETA BIP AIPaT DI YR AR {51 F | THT HIA § aA SIIpdiie JRPR B I@IST B, JT
DY PR & [0 | GR T 1 SR TP T 1Y BT RITGAT BRAT G111 | AT THBT ST IGT0T
B gar 21 3t 8T a% AuTa | oI T Bl ATl 39 AuTd H Aipad 8 | Afp ar Y airaal $iv
gmmﬁgaﬂﬁﬁm%ﬁaﬁmaﬁélmﬁmamm%%ﬁmmﬁmmﬁa&ﬁ?ﬂ
CEREE

TSR WM Aidad § faR ot gHldl gl 81 39T Aaad ¢ & fHeft 331 & v &3 o diwaite
WHR F Gayd Rigial B TR] HAT MR ITD YHTT B AT P 83 I MR I B T YT T UgarI|
g TRt e @ siftre =ifad UeT -1, Y F TR 3PS B Wudig & guTd  arEn, afgensi oiv
ST DI GRIURT T SiisI, 3f AR &1 gl & 3erev 81 3961 I8 Haas i g S su o
Had U g il Awaitie uihar A R R o 9 | URd SR SmfveT 9t stftierar 331 omet =it At &t
IAAT P IR &1 URd H 3t oft 9o d & 00 o o € RFe! werifae wife =8 fare g 81 et
W} gEiR & $B I URG F1 JOIURT V {1 1T I3 Tl U &1 T 99 Aidpad & AR & =it &
ISTEXU1 & | ADda DI e aP Toigd DI B Grlal DT FHAT 8% Aibad B ST USdT 8| FHBT Aaad
2 dwda @1 uftraneil Sk TR @1 goigd BTl

S TR B USHR 1K IR T U= HT Ik qarsy|
Y : FF quRm &Y gl &1 A R Sirar 82

1. STt 3fdezrquf g1

2. S Hg@yUl 7l

3, Sl g Bl

4, Sl TR B

Correct Answer :-

. Sl Hgaqul &l
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13) i3 ot g Faa TH THRAT A1 Tl & 1 S TR B A B1 AT far Srar § <Y "oyl 8
3R R UR urT o W | R TH & S 969 & SR 90 §U B €S9 oW gHId) $8d &1 TP aR o
&9 freft AT wR forora wie 7 o § f 59 Us & el iU SR ggd § | didad ot geT gAtaar
fFrafafEd §: snuR TaR 3 B T, TR 3 gHd, AP P S Aoigd ST (R 3T =N I
[T ST G BT ATHAT BT usar 2| 3t fay &1 v durg e dfeas & organ 81 g & v
DIl § diddd @1 g Aagpa e 81 37 330 & T gHl ¢ 7% 5y 7 9 te dedie ReR
TETA HRP Abad BT YR IR fFa1 S| T FA § T0H AP diid IRGR I @IS 81T, I
B WHR P A0 I G 3@ I SR TP WA Y P71 RITGAT AT G111 AT TP SST SGT6R0
B awar g1 3l gTe a AuTer A e g3 Hal AT 3 AU B D g | AT N Bt sl ik
gmmﬁ%fﬁﬁﬁmﬁﬁaﬁmmﬁ%lsﬂﬁﬁﬁwa{tﬁﬁﬁw%%ﬁmmﬁﬂwmﬁaﬂm
SERGE]

TR R didad ¥ fawarR ot gHldl gidl 81 39®T Aaad ¢ [ Bt 33 & &v &7 § diwaite
WPR & FaYd Rgidl & TR BT 3R ITP UHTT B JHS P 83 I3 3R I P g IRIT TP gl
g Wt el @) sifte wfed UgH ST, TU & g1 IhTs &) Gudie & THTE | a1, Afgansil eiv
ST IH DI GIURT | wiIsI, 3fe AR o1 gl &b 33601 81 591 I8 Aaas Mg Fsud o
THad T gl & Awdaite ufshar @ W R/ o1 9| YR iR 3AReT o=t eiftrpar §=1 oner 3=t At &
IR PR &1 R A 3t ot goe # &2 T s ot € Rme! worifae wifed =8 faa g 81 eme
W gaR & $© T HRT B TOIURT A T Re s 61 U1 §1 & I Wcbd & [a6R &1 gt &
ISTEXUT § | ADd DI TERTS aP Toigd B B Frlal BT THAT 83 Alpad B ST USdT ¢ | ITBT AqAd
2 dipad 3t ufsranail 3k IR o1 Torgd BT

IUYad TN B UgHR A U M YR &7 3@ Jaist|

T : S{TT-3ET SN DI T TP SRt Al BT JTHAT AT ISl 82
1. T q B T

2.7l

3. QAR &

4, T8

Correct Answer :-

14) &3 W T Fad TH TUAT 1 BIelt & 1 I TATT Bt gl o1 A1 e Sirar § < gewagut @t
IR O UR U o Wb | foRT o # SRt 9gA & AR U gU B € 99 §¥ YAl Bgd 3| U aR o
79 fedt Tt oR fasra v o% A4 & dt 59 usd | Bt Siftie i ged &1 didmad Ft g gHifaar
fFrafafed &: snuR R & 31 TN, AR F1 AR, dibdad P o1 Aoigd BT (AT (e =) B
[T ST G BT ATHAT BT Usar 2| 3t fay &1 v Aurg i dfewds & organ 31 g & ¥
Pl A dwdd @1 gl fiaga e g1 39 3= & Ui gHial @ f fa ave @ ue diedibe wReR
TETA PP AIPaT BT YR dUR fHa1 TR | I FA T TAUH AP AiAD TRPR B SWIST eI, JT
B PR & R0 I gR T 1N R TP W Y BT RITGAT BT 1T | AU THBT ST SEI0T
gl ar 21 3t gTa 9% Aura | el T Rl AT 39 AT § Aipad g 1 A dRN 3t sl $iv
gmmﬁgaﬂﬁﬁmﬁﬁaﬁmmﬁ%lwﬁﬁﬁmmtﬁm%%ﬁaﬂmﬁmmﬁaﬂgﬁ?ﬁ
FERCE)

HTETaR W ddaa § fawar 31 gHldl gidl 81 39%T 7aad ¢ f [0 3w & - &7 § diwaite
WHR F Gayd RIgial B TR HAT 3N ITP YHTT S AT P B3 I 3R S/ B T IRIT T Ugar|
g et el @ eifte ufed Ue $A1, TU & TR 3H1S &) Hudle & THTd & o, Afganai 3w
IERISIP| Bt GRIURT A g1, 3fe fIwar Ft gl & Igrexvn &1 5971 98 Uaas M 3 fr sudoa
THaa T g & Aedaite ufsear @ R R o1 9% | YR iR 3RSt S siftrpar S=1 3met 330t AT @
AT R I8 & 1 WRA & onft oft ot & 5 00 Rrss of & ! seHifae wifea 1) o urs 81 e
1 TaiR & $© TS0 YR &1 TEIYRT A T @18 I 78l U 1 ¥ 94 didds & faaR & gl &
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TCTERT & | NP B TERTS qb Tolgd B DI Al BT JTHAT 8% Alpad I BT USdl 8 | SHDT Adad
? dieda @1 ufsranail iR TR &) Hoigd BT

SR TR P USHR A1 I T U= HT Ik Jarsy|
TY : TY DI G 3PTs DI frads G & a1 dibaiid sTawT g gl 8§ ?

1. _TgdTq

2. gHNIAIG

3. gyl

4, YD AIG

Correct Answer :-

15) oI5 ot g Faa ve a1 gt {1 S TH B A B A far Srar & <Y wewyyf 8
3R R UR uraT o W | oy o § S 989 & 3w g §U I € S g6 T Ped &1 U 9R o
79 et gt UR fororg v &7 o § f 89 Ugd & dal i S ged § | didhad ot gt gl
fFrafafad &: snuR duR &1 F1 g, AR $1 A, diedd St o7 Aelgd BT 3RT (e =0T B
ST SERT TGN BT ATHAT BT gear 21 3ift fay &1 v Durs v dwpas @ organ 81 g & o
DIl § didpdd @1 gl fAagpa IF 81 59 =11 & T gt ¢ 1% 5y 9 A U diddiie WeR
BT HRP Abad BT YR dIR 51 S | T/ H3 | TG0 A did IRBR I Q@IS g, AT
DY WRPR & [T GR TSI SR TP T 1Y BT RITGAT BRAT G111 | T THBT ST IGT0T
B gaar 21 3t 8T a% AuTe | o T Rl ATl 39 AuTd H Aipad 8 | Afp an Y siraal $iR
gmmﬁgaﬂﬁaﬁm%ﬁaﬁmaﬁélwl%lﬁﬁtrmanﬂa’lﬁa%%ﬁanmﬁmwﬁﬁﬁ?ﬂ
CERGE

TSR WM Adad § faTR ot gHldl gl 8 1 39T Aaad ¢ & fHeft 331 & ¥ &7 o diwaits
WHR F GaYd Riial B TR HAT 3R IHD YHTT B AT P 83 I 3fIR I/ B 8§ YT T UgarI|
T Rt e @ siftre =ifad UeT -1, U F TR 3HTS B WudIg & gUTd H arEn, afgensi oiv
ICRITIF| B GRIURT F g1, i faar F5t gl & IgTexvn &1 39T I8 Uaay ol § fr sud o
Had U gl il dwaitie uihar A R R o 9d | URd 8iR 3mfveT 9t stftierar 331 omet =it gl &t
AT PR TR &1 URd § 3t oft gore A & 9 o o € RFe! werifae wife =8t fare urd 81 et
W} EiR & $ I URG F JOIURT A T RE I3 T U8 &1 T 99 didpad & QR & gt &
ISTEXU1 & | ADda DI TERTS aP Toigd B B Grlal DT THAT 83 Aibad Bl HIT UST ¢ | FHBT Aaad
2 dwda @1 uferaneil ok TR &1 Toigd BT

I TR B USHR 12 IR T U= HT Ik qarsy|

Y : o 3= & Apa AL 8 S N I e Aot | g ?
1. B Ibdiids TaIT I Bt

2. $IA AIDHAAD YR IR B B

3. $Id AP dIHD ILHR TgTd B Bl
4. Ijad qaft

Correct Answer :-

- SPfer it

Page- 19



16) TI1FT AR qUl Bt TS, FTST BT AR TS

FET TR BT TR ¥ RR & U 7 ug=m

IHSH] T BT Dl B BTl db A ST

ol B ave forerett o1 fezmsii | wew I+

T quf & ARG T foraet wior & WR

St 9Td% Bt AT AHdl § IIGd T HORI

S @ IEHR, Rl TRPR o Hi f&amar g

S U 999 IR 3 gl ot foafieman g

3R 3TUTEG & U fGa & YW S &f01 §

a5 gaAR 3 3T 3, FIIGNT & A |

T DT & B ST

ITHE T BT UgH 1 Y oM a1 U= P Ik qaisy|
UR: 9ul & T SFfS == e wiont & ff Wk @rd /2
1. S DI

2. [T 1

3. AURI &I

4, Ui Ufe &t

Correct Answer :-

. fPumE @

17) a1 &1 Wk auf &1 1S, srs! &1 AR s
Pl TR &1 ST g¥ RR & T fR ger
IASI A4 BT Gl DI DI dF TG 36T

@aol Bt a¥g faotelt &1 fammae # wex 3T

T quf & ARG T ForTa wor & wWR

i) AT P ORE AIHAl § IGH T BRI

i YT YEBR, Rl FRBR o1 1 fyerar @

ot Urft ae UR 3iTe e ot fererfverrar @

IR 3TYTE & U fGad & UYH S &0 &

TR} FAR A 7T B, PTG & 7R
TGP & HT ST

ST U Bl TeHR A1 Y M a1l U= $T S qarzy |
TR 3ATUTG AL BT HaY 5 B A giar 82
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1. RIfRR

2. 'R
3. gHd
4, quf

Correct Answer :-

18) BI1 P AR quf & S, TSI BT IR TS
FE1 TR BT PR g¥ RR & 9 5w ug=n
IAS! T BT Dl B BT db AT ST
@l o1 wvg faerelt 1 fezmsif # wex 9o

T quf & ARG T o UIoT | Wi

S AP P ARG ATHAT § TG T HORI

SiT YT TEHY, Rt FReBR ST B Ryarar @
S U 99 W 31T g} ot foafieman g

3R 3TUTG & Ugdl fGasy & YW ST &f01 §
I8 AR Sifd 3T B, FifererE & A

T HTP! & B &1

ST T B TgH 1 YD W a1 U= P Sk qaisy |
w: TRI fERmaei § fasTelt S Tyl 82
1. I Bl RE |

2. Ueid &l IRG |

3. Uid B BIY &I RE |

4, 1Y G AT o |

Correct Answer :-

- I ST eIl 8 |

19) B91 BT W auf &I S}, TS| &7 AR gST
Pl TR BT STIHR g3 "R & I v ug=1
IAS! A BT el DI BTt TH TR SST
ol B avg forerelt o1 fezmen | wew Io+11

T quf & 3R T ORIy wIor & WR
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i AT B aE ATl § Ted T DRI

ST T IEHY, Rl TP o1 I fyarar 3

St Ut 9o WR Y g at forafiarar @

3R 31U & Ugd [Gad & YUYW 7 &0T |

T8 AR 3P 1T B, PTG F TAH

q TP &1 B ST

ST T Bl TgP 1 Y oI 1 U= $T Sk qa1s¢|
TR 3R HHY UR TR A g1 df 9o 16T o B gl 82
1. fora

2. WHR
3. olgR
4. 9%

Correct Answer :-

20) TI1PT AR qul B TS, ST BT AR TS
Pl TROH BT R g7 R & 9 fih usAr
IASAT TS BT Wl B BT dF TG o1

@l Y o forelt &1 fezman & wex 3o

T quf & 3G T ForTat wor & wWR

St 9Td% St ORE APl § A I BRI

Y @ TEHR, YR TR o bt e @

St UTi g9 TR 3T g at foratiarar 8

IR AT & Ugd 3o & YW o7 &or

TR} FAR HfUF 1T B, PTG S AR
D &1 B ST

ST UL BT UgHR 14 TR WM aTel U= BT IR 9a1z¢|
UT: 915 b TR BT YA g o¥e gl 82
1. TR I S B |

2. STHBR S B |

3. O SR US|

4. S RR & SR & o1 R T &
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Correct Answer :-

. SRR & SWR AT HR W@ T

21) §a1 $T Wk auf ®1 SIS, TS] BT AR us1

Pl TR BT AR gR R F URT - v

IASAT TS BT Gl B BT 9P AR o1

@l B axg faerelt o1 fgzmsit & wex 9

T auf & oFE T ORIy wor & Wi

S AT B aRE AThdT § digd g9 HORIN

St YT DY, YR TRBY o1 B f&emrar @

St Ut 9ot WR Y EY at forafirarar 8

3R TUTE & Uge fadd & YUYW 39 &1 |

TE! FALR A 1T B, PTG & 7 |
TITP! & B &1

ST TN B UgHp 1 YD oM a1 U= P Sk 9aisy|
U "SR 3ATUTE & Ugd fead & uyw 59 &fur § o1 Ufagie Hay frad 82
1, YA &I SRR

2. AFgA DI gar g

3, YA I 4

4. PTGy B Pid AUGIH I

Correct Answer :-

. BIEN & Hid Hugaq I

22) a1 1 AR qul &1 SY, ;S| BT R g
PBI TG DI SIHR gY RR & I O g1
IS T BT Wl B B dF T8 ST
ol B avg forerett o1 fezmsii # wew Io+11
T quf & 3FRE T forae! wior & wWR

St 9T® Bt AT ATHdl § IIGd I HORI
St YT PR, YRl TRB o1 Bl Farar g
STt urf 9o W e L o fRrfverar @
3R 3M9T¢ & Ued feaq & uyd 39 &1 A
TG FAWR RIS 31T &, DI S A7 H
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T HAD! & B &1

ITHE T Bl TgH 1 Y o a1 U= $T Sk qa1s |
T: "HSI WeE | B BT T aredd 82

1. §eop! fhg TR auf

2. YA AT

3. S-S

4, U1 H ST areh grsar

Correct Answer :-

. Too! b IR auf

23) B491 1 Wk 99f &1 SIS}, sl &1 AR usr

P! TRO BT SR g7 R & 9y fihe gsr

IASA A BT Gl B BT dF TG IS+

@l Y o forelt &1 fezmafi & wex 3o

T quf & 3G T ForTe wor & wWR

St IrAa® P A AHT § JIGA T HORIR

St YT TEHY, YR TRBR o B ferrar @

St Ut 9ot WR 3iE 6T ot forafiemar 8

IR AT & U fGaw & UUH S &1 §

TE gAR iR 3T B, PIfere™ & A H

T ITP! &HT B 11

ST TN B TeHhR -1d Y 9 a1al W= $T &k 9arsy|
UL: Hfd A fHa= $t goqn arae velt F w0l @1 32

1. TP fram SR a1ae uf s i 8|

2. Fifeh TS BT I 4 WY B

3. Fifep foram efitd g

4, b AT SR I A T1ad! B 3R 3T WA 3|

Correct Answer :-

. i fHam 3R Irad gHR SIgal Bi 3R WA a2 |

24) §41 P Wk 9uf B1 3131, S| &7 AR gs-r

Pl TG DI PR g¥ RR & I v ug=1
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IS T BT Wl DI DA I A8 o7

el @Y o forelt &1 fammali & wex So

T 9uf & S T Forret ToT & Wi

St ATaw B aRE ATHdT § aiad g9 HORN

S T EHR, R TR o Hi fyarar @

SN U 9o OR 3e el o faefiemar @

3R TUTG & Uge faad & UYH 34 &0T H

TG FAUR ST ST &, PTG & A7 H

T IS & R ST

ST UL BT Ued 1 YD oI a1 U= P Sk g1y |
U=: fHar yzar Tee) ot Wa A . wvar @2
1. HegR el 5 |

2. fRgT AT B

3. S-S Bgd HRaT g |

4, MISH FRAT 8|

Correct Answer :-

. ofl-die AeTd s gl

25) 91 $T AR qUi & ST, TSt BT R TS
Pl TREH BT WIHR gR AR & R fR us=n
ISl TGt BT Gl DI DIt dF AGX ST

@l o1 aee et o1 fezmsif & wex I

T quf & SFRE T forTs! wor & Wi

St A1 P AR AHT ¢ SIGd T HORR

S YT IEDY, LR TRP o1 Bl Fyarar &

i Tt g R Se Y & frafrerar @

3R 3ATHTG & TS G & UYd 39 &ur &

5 TR I 3T 7, PTG & AA H
TISP! & BT &A1

ST T B TeH 1Y IS M a1 U= P S« qaisy|
U=: 39 Haar A wfd 9 ‘g’ {5 we18?
1, SR &

2. [
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3, SR B
4, fiPOUI Bl

Correct Answer :-

. oA

26) T91F1 W qul 3t FST, TSI BT R vz

Pl TR BT TIHR g7 "R & U v ug=n

IS T BT Wl DI DA P A8 ST

@l $1 a¥g el o fgzmsif d wex 9o

q qut & 3FRY T R wror & W

i ATF Pt ARG AT § TMET T HORIN

i YT TEHR, TR FRBR o1 1 e @

St urei g9 W e T @t frafrarar 8

3R 3TUTE P UG fGad & UUH 39 &1 §

TE! FAWR SR 31T &, PTG & 7 H

T GI &HT B ¢TI

STT Ui B! TeH A4 U9 S a1dl U= 1 I«i¥ 9aisg|
TR: 39 BIaaT § TFREH F O 81 W [aat @it &1 9of= fear man 82
1. T gail ol

2. T S Pt

3. T faRE! Bt

4, U for e &l

Correct Answer :-

. TH fbaH DI

27) A1 H1 Wk aul 3 ST, F1S) b1 AR vsAr
Pl TR BT WP ge RR & T fR us=r
ITSAl T4t BT Well B DAt dF TG ST
@l B a¥E el o1 fezmsif & wex 9=

Y 9uf & oI T formret ror & Wi

St ATq® B aRE AThdT § digd ¥ BRI

S @ IEPR, Rl TRPR o1 DI f&arar g
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i Tt 9o R e g af foaterar 8

3R TUTE & Uge faad & UYH 3 &1 |

T5! FALR AT 1T B, PIferar & 7 |

TGP & FT ST

ST UL B UgH 1 YD oI a1 U= P Ik qaisy|
TR: 39 Biaar ¥ v faafias 2o &1 @ o g2
1, ST BT

2. g AT

3, A% T

4, U9 g

Correct Answer :-

28) T41 BT WX Ul & ST, AIST BT AR TS

FET TR BT WY X RR & 9 7 v

ISl TGt BT Gl DI Bt dP AGX 36T

@l Bt g ol &1 fe=mai & wex Sa

T quf & SFE T ORI wior & Wi

St AP P ARG AHT ¢ SIGA T HORIR

S YT IHY, R TRPY o1 1 e @
EIRICES R PR G IR CRIE RG]

3R 3TUTE & gt fadd & UUH I &7 |

IE FAUR U T 7, PIfcraT & A H
TSP & B &1

ST UL BT TgHR -4 TR M a1el U= BT Ik Ia1z¢|
W: Afe 3TuTe & ugd o Fiferery & 3t fwa arg oM ot & =1 a1fee?
1, BTG DI UgHT AT

2. BIAGN & IR | &1d B! AR

3, PIfcTard U &HT HIT o=t =g Ul

4, B o Bl AT

Correct Answer :-

- DGR J &HT AN T =T
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29) a1 H1 AR aul &I ST, ST BT R TS0

PEI TR BT SR g7 RR & U v ug=n

IS Tl BT Dol B STl db ¥ So+T

@l Pt a¥g forerelt &1 fexmen # wex goT

T qui & SR T forde! UIor & W

i TP P ARG AT § TG T FORN

SiT YT IEBR, Rl TR o Bl ferar @

it UTft @R UR 37T 78T ot forerfrerrar 8

IR TG & UG o & W ST &o1 §

I8 TR ST 31T B, Hiferey & A1 A

T ST & R ST

ST UL Bl UgHR -4 UL W a1d U= BT Ik qa1s¢|
TR: IHTAT g5 Al B Ag% Bl ab Ugad aet 82
1. TgTIeh Al dh

2. TR da

3. Wdl &1 B db

4, 9% P

Correct Answer :-

. Tl P B dB

30) §91 BT R qul &1 S}, sl &1 R usr
Pl TRO BT SR g7 RIR & 9 fi gsr
ITSAl TGt BT Vel DI DIt dF TG ST
@l B a¥g faerelt o1 fezmsii # wex 3o

3 99l & oI T forret wioT & Wi

St AT B avE AhdT § digd g9 BRI

S T I, R TRP o1 i Fyarar &
St urei ged W e =g @t frefirarar @

3R 3TUTE & U fGad & UYH S &0 |
TE! FALR A 1T 3, PTG & 7 H

T HTD! &HT B 11

STT T BT UgH -9 TR WM a1el U= BT Ik qa13¢|
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U: A | o9 SIR) @1 891 & 1Y 9t gial 8 o 71 R =i 82
1. 31

2. Uels

3. 3RA

4. Frs-Ersg

Correct Answer :-

Topic:- General English(L2GE)

1) Fillin the blank with the correct option in the given sentence:

One who does evil is a malefact--.

1, --or
2, --ant
3. --ion
4, --er

Correct Answer :-

2) Read the poem carefully and answer the question given below:
I lie awake each night

staring at the ceiling
dreaming and hoping

My heart filled with feeling

A desire to roam
To leave the nest
To step outside my home

It matters not —east or west

Oh, how I'd like to travel
On a boat or on a plane

To see mountains and valleys
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And get to new terrain

Oh, how I wish to travel
Somewhere new, Somewhere far
that is what I wish for

When I wish upon a star
Where is the speaker?

1. In his room

2. In a garden

3. In the forest

4. At the beach

Correct Answer :-

e In his room

3) Read the passage carefully and answer the question given below:

I died today. I wasn't ready at all. Death can be quite unpleasant when you are not ready. It's
like having guests show up uninvited at your door while you were planning to spend the evening
watching television.

“Excuse me, but this is not a good time, I have a lot of work to do.” Unfortunately, you can't say
this to those kinds of guests.

The day began like any other day in the past 34 years (or at least the ones I could remember) of
my life. I woke up from an incomplete dream, my brain let go of most of the details. My room
looked the same; I looked the same, felt the same and wanted the same things. I didn't know
what exactly, but I was sure, it was pretty much the same as what I wanted yesterday, and the
day before. With the usual morning noises outside, I could hear an unusual noise coming from
down my window on the third floor.

According to the narrator when is death unpleasant?
1. When you are not expecting it

2. When you have uninvited guests

3. When you are having an ordinary day

4, When you are watching television

Correct Answer :-

+« When you are not expecting it

4) Read the passage carefully and answer the question given below:

I died today. I wasn’t ready at all. Death can be quite unpleasant when you are not ready. It's
like having guests show up uninvited at your door while you were planning to spend the evening
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watching television.

“Excuse me, but this is not a good time, I have a lot of work to do.” Unfortunately, you can’t say
this to those kinds of guests.

The day began like any other day in the past 34 years (or at least the ones I could remember) of
my life. I woke up from an incomplete dream, my brain let go of most of the details. My room
looked the same; I looked the same, felt the same and wanted the same things. I didn't know
what exactly, but I was sure, it was pretty much the same as what I wanted yesterday, and the
day before. With the usual morning noises outside, I could hear an unusual noise coming from
down my window on the third floor.

“Excuse me, but this is not a good time, I have a lot of work to do.” To whom did the narrator
intend this line?

1. Death
2. Uninvited Guests
3. Strangers

4., Himself

Correct Answer :-

¢ Uninvited Guests

5) Read the passage carefully and answer the question given below:

I died today. I wasn't ready at all. Death can be quite unpleasant when you are not ready. It's
like having guests show up uninvited at your door while you were planning to spend the evening
watching television.

“Excuse me, but this is not a good time, I have a lot of work to do.” Unfortunately, you can’t say
this to those kinds of guests.

The day began like any other day in the past 34 years (or at least the ones I could remember) of
my life. I woke up from an incomplete dream, my brain let go of most of the details. My room
looked the same; I looked the same, felt the same and wanted the same things. I didn't know
what exactly, but I was sure, it was pretty much the same as what I wanted yesterday, and the
day before. With the usual morning noises outside, I could hear an unusual noise coming from
down my window on the third floor.

Where did the narrator live?
1. On the ground floor

2. On the third floor

3. In the penthouse

4. Above the third floor

Correct Answer :-

¢ On the third floor

Page- 31



6) Read the passage carefully and answer the question given below:

I died today. I wasn‘t ready at all. Death can be quite unpleasant when you are not ready. It's
like having guests show up uninvited at your door while you were planning to spend the evening
watching television.

“Excuse me, but this is not a good time, I have a lot of work to do.” Unfortunately, you can't say
this to those kinds of guests.

The day began like any other day in the past 34 years (or at least the ones I could remember) of
my life. I woke up from an incomplete dream, my brain let go of most of the details. My room
looked the same; I looked the same, felt the same and wanted the same things. I didn't know
what exactly, but I was sure, it was pretty much the same as what I wanted yesterday, and the
day before. With the usual morning noises outside, I could hear an unusual noise coming from
down my window on the third floor.

What was unusual about the narrator’s day?
1. He had died that day

2. He woke up from an incomplete dream

3. Some uninvited guests showed up at his door

4. He wanted something different today

Correct Answer :-

e He had died that day

7) Fillin the blank with the correct option in the given sentence:
---consumption of junk foods makes bowel syndrome irritable.

1. Over---

2. Micro---

3. Non---

4, under---

Correct Answer :-
¢ Over---

8) Fill in the blank with the correct option in the given sentence:

Many birds travel long distances every year.
1. migrants
2. migratory

3. migration
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4, migrated

Correct Answer :-

« migratory

9) Select the correct option to complete the sentences.

Due to inflation increasing housing prices, the place is considered as one of the
least affordable cities.

1. both, and
2. neither, nor
3. either, or

4, scarcely, before

Correct Answer :-

e both, and

10) Choose appropriate articles for the given sentence:

______honest employee is asset to company.
1. no article required, an, a

2. The, an, a

3. An, the, no article required

4. An, an, a

Correct Answer :-

11) Choose the appropriate option that rewrites the given sentence in its passive voice.

The postman will deliver the letters in the afternoon.

1. The letters will be delivered in the afternoon by the postman.
2. The postman will be delivering the letters in the afternoon.

3. The postman delivered the letters in the afternoon.

4, The postman will have been delivering the letters in the afternoon.
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Correct Answer :-
¢ The letters will be delivered in the afternoon by the postman.

12) Choose the appropriate synonym for the highlighted word in the given sentence.
Some words can’t be used interchangeably.

1. mainly

2. identically

3. equably

4, differently

Correct Answer :-
« identically

13) Choose the appropriate tenses to fill in the blanks in the given sentence :

I tomorrow if I the time.
1. come, will have had

2. will come, have

3. will have come, will have

4. may came, had

Correct Answer :-

o will come, have

14) Choose the appropriate antonym for the highlighted word in the given sentence.
They refused to move out of the house.

1. repudiated

2. disclaimed

3. conceded

4, denied

Correct Answer :-

¢ conceded

Page- 34



15) Choose the appropriate prepositions for the given sentence:

Most of the old road, which stretched Delhi Gurgaon has been replaced
super express highways.

1. from, to, by

2. to ,for, between
3. to, behind, to

4, in, on, about
Correct Answer :-
o from, to, by

16) Choose an appropriate modal for the given sentence:

I am not free today. We meet on Friday evening, if it is ok with you.
1. could

2. must

3. might

4, may

Correct Answer :-
e could

17) Choose the option that best explains the highlighted expression:
My not getting a job there proved to be a blessing in disguise.

1. truly unbelievable

2. an apparent misfortune that has good results

3. a disappointment

4, a disguised appearance

Correct Answer :-

e an apparent misfortune that has good results

18) Choose the option that best explains the highlighted expression:

Their father has a blind spot about his children’s education.
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1. a silent passion
2. secret place known only to him
3. very strict upbringing

4, an aspect difficult to understand

Correct Answer :-
¢ an aspect difficult to understand

19) Choose the option that best transforms the sentence into its Indirect form:

‘God, she is fainting!’ he said.

1, He cried in alarm that she was fainting.
2. He cried in alarm that she is fainting.
3. He cried to God that she was fainting.

4. Crying to God, he said that she was fainting.

Correct Answer :-
e He cried in alarm that she was fainting.

20) Choose the option that substitutes the given phrase appropriately.

Great confusion and uproar
1. Broil

2. Altercation

3. Brawl

4. Pandemonium

Correct Answer :-

» Pandemonium

21) Change the given statement to indirect speech.

"You can't bathe in this sea," they said to me, "it's very rough.”
1. They said that you can’t bathe in this sea, it is very rough.

2. They said that I couldn’t bathe in that sea as it was very rough.

3. They said that you can’t bathe in that sea as it is very rough.
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4, They said that I can't bathe in this sea because it is very rough.

Correct Answer :-

« They said that I couldn't bathe in that sea as it was very rough.

22) Fillin the blank with the most appropriate preposition from the options given.
English, Anisha knows Hindi and Kannada.

1. Besides

2. From

3. Since

4. During

Correct Answer :-
+ Besides

23) Choose the most appropriate determiner from the options given below.

The festival ends Thursday.
1. this

2. on

3. within

4, by

Correct Answer :-
* this
24) Choose the appropriate pronouns for the given sentence:

cut while chopping the vegetables.

1. They, us
2. It, itself
3. She, her

4. I, myself

Correct Answer :-

o I, myself
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25) Choose the right tag:

Uncle Swamy loves his children, ?
1.isn't he
2. does he
3. don't he

4, doesn't he

Correct Answer :-

« doesn't he

26) Which of the following options best combines the two given sentences?
He is very rich. He leads a very simple life.

1. Being rich, so he leads a simple life.

2. In spite of being rich, yet he leads a simple life.

3. He is very rich, but leads a very simple life.

4, He is very rich, so he leads a very simple life

Correct Answer :-

e He s very rich, but leads a very simple life.

27) Read the poem carefully and answer the question given below:
I lie awake each night

staring at the ceiling
dreaming and hoping

My heart filled with feeling
A desire to roam

To leave the nest

To step outside my home

It matters not —east or west

Oh, how I'd like to travel
On a boat or on a plane

To see mountains and valleys

And get to new terrain
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Oh, how I wish to travel
Somewhere new, Somewhere far
that is what I wish for

When I wish upon a star

What other terrains could the speaker visit?

1. Volcano
2. Beach
3. Plateau

4, Rain

Correct Answer :-

+ Plateau

28) Read the poem carefully and answer the question given below:
I lie awake each night

staring at the ceiling
dreaming and hoping

My heart filled with feeling

A desire to roam
To leave the nest
To step outside my home

It matters not —east or west

Oh, how I'd like to travel
On a boat or on a plane

To see mountains and valleys

And get to new terrain

Oh, how I wish to travel
Somewhere new, Somewhere far
that is what I wish for

When I wish upon a star
The speaker is expressing his feelings of:

1. Enjoyment
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2. Sorrow
3. Longing
4, Disappointment

Correct Answer :-

» Longing

29) Read the poem carefully and answer the question given below:
I lie awake each night

staring at the ceiling
dreaming and hoping

My heart filled with feeling

A desire to roam
To leave the nest
To step outside my home

It matters not —east or west

Oh, how I'd like to travel
On a boat or on a plane

To see mountains and valleys

And get to new terrain

Oh, how I wish to travel
Somewhere new, Somewhere far
that is what I wish for

When I wish upon a star

At what time could the speaker be speaking?
1. 6am

2. 4pm

3. 1lam

4, 11pm

Correct Answer :-
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30) Read the sentence carefully and choose the option that has an error in it:

You are just as clever like your sister.
1. as clever like

2. You are just

3. your sister.

4. No error

Correct Answer :-

« as clever like

Topic:- Social Science (SSC)

1) Which among the following is the driest desert on Earth? / Ffafafea A I s ar T{Zfﬁ R Igad
Ip YRR 82

1. Kalahari / STATGRY

2. Tabernas Desert / TR X

3. Atacama / S{CIhTHT

4. Gobi / Trsit

Correct Answer :-

o Atacama / 3{CIHTHI

Match theinscriptions with rulers

1. Mandasor Pillar inscription | A. Chandra Gupta
2. Meharauli Pillar inscription | B. Skanda Gupta
3. Bhitari Pillar Inscription C. Pravar Sena II
4. Chamak Copper plate D. Kumargupta I

/ 9TeRT & T TerererE &1 T8 &L

1. ACAR TdH RIemed@ | A. =g acd

2. AEIeT Ty e | B, Tehe aed

3. A T fAremer@ | C. WX e I

4. ATHF HIRW “OIC D. FHERIT JAH
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1. 1-A, 2-B, 3-C, 4-D
2. 1-D, 2-A, 3-B, 4-C
3. 1-D, 2-B, 3-A, 4-C
4. 1-D, 2-C, 3-B, 4-A
Correct Answer :-

« 1-D, 2-A, 3-B, 4-C

3) FIIs stands for ./ Wﬁﬂiﬁl’lﬁ Gal IIUTFCT_ ]
1. Foreign Institutional Investors / ﬁqm ELSprent

2. Foreign Income Investments / PR 376 H Saehc

3. Foreign Investors Income / BRA 3’%@ g1hH

4. Foreign Investment Index / BRA mfﬁf BRG]

Correct Answer :-

 Foreign Institutional Investors / BRA é&c‘\lg&mm $va~tCHr

4) The most appropriate criterion that determines the selection of a teaching method is: / T&d

IUYE TGS S T e usfa & aa+ «f fAyffa s g:
1. The nature of the subject matter / W—Gﬁ Edl Uepid

2. The classroom environment / P&l T dIdTdRT[
3. The availability of resources / e P U
4. The incompetence of the teacher / fR1&@ T &

Correct Answer :-

« The nature of the subject mater / TdST-a¥ B1 Upfd

5) The vesara style in the building of structural temples was developed by: /

TS HieRl & fAHior ¥ 9o et - g1 fawRRa 1 78 <
1. Pallavas / Uecid

2. Chalukyas / dIqJad

3. Guptas / W
4. Mauryas / |

Correct Answer :-
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« Chalukyas / dlddd

6) Development is a and nonstop process at all periods and stages of

human life. / 9T A9 sita= & I I7 3R TR0 A T 3R AR
ufspar g1

1. uniform / THhJHTT
2. important / W

3. general / HHY

4, continuous / ddd

Correct Answer :-
» continuous / Idd

7) Students are split into small groups for a specific period of time and are made to discuss a

given issue or topic. This method is known as: / m‘:ﬁﬁwﬁf&mwaﬁfﬁ %ﬁl’({%ﬁ%
el ¥ faurra fear oimar 8 ofik 33 3 g8, a1 fawy R faaR-fawst v sran 81 9@
prein) Hgard g

1. Brainstorming / W%W (@‘IET&TTD

2. Buzz session / TSI T (@W@’-‘Zﬁ)
3. Symposium / BIRCE]]

4, Debate / ATe-Iddlg

Correct Answer :-

« Buzz session / WW @W@'QFD

8) Panini was the author of / UTIOTI f1 & oRa® &
1. Ashtadhyayi / 3¥T a2 ipsl]

2. Mahabhasya / He[H™]

3. Daskumara Charita / GRIHHR TRd

4. Mrichhkatika / Ga&8hichY

Correct Answer :-

. Ashtadhyayi / 3STeETL
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In projective techniques of personality assessment, behaviour is evaluated. / S faeId

AMHAT DI UAT THABI B SId8R &1 Yedidh+ (a1 Sar g
1. criminal / STORTH

2. conscious / Fdd

3. overt / U&H¢

4, covert / AUDC

Correct Answer :-

« covert / HUDHC

10) When was Sikkim created as a full-fledged state of Union of India? / Fafewa & URda
Y & Ui 359 B Golt & f&ar 14T 12

1. 1985
2. 1975
3. 1970
4. 1980

Correct Answer :-

- 1975

11) At which point of discussion, does social science differ from pure science? / <r|t & ford

g wR, Wi fami fagges g & R gia g

1. Degree of complexity / ST 1 HET

2. Repetition and duplication / EHT@%T 3R @ﬂqﬁf

3, Validity and reliability / ST 3R f3e=orar

4. Exactness of measures for prediction / WQFT & fore Surdi/aral o tlﬁ'-‘{l@ﬂ'[

Correct Answer :-

« Exactness of measures for prediction / W?F[ & T SuriAm S U Iigl@al

12) Aryabhatta and Varahamihira belonged to which age? / 3 Hg 3R WefUfes foy
I A TEiea &2

1. Kusana / YU
2. Harsha / _Ea'Gf
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3. Gupta / [t

4. Maurya / araf

Correct Answer :-

+ Gupta /[t

13) Who among the tomar rulers established the fortified city of Lal Kot (Delhi) in 8th

zﬁntury?/sﬁmﬁmm?w%maﬁz(ﬁ?vﬁ)%mwaﬂwﬁ

1. Anangpal / 3/FTTOTA

2. Lakhan Pal / &7 YTl
3. Tejpal / LIS

4, Madan Pal / Ha UTdT

Correct Answer :-

« Anangpal / 3FTUTA

14) Who was the powerful woman ruler of Kashmir from 958 to 1003 AD.? / 958 T 1003

SYd] P HIHR P NIRRT Afgwn D B A2
1. Kauravaki / W
2. Prabhawati / UHTGC

3. Didda / f&gT

4, Rudrama / > &HI

Correct Answer :-

. Didda/fazT

15) Who coined the word ecology (Okologie)? / UTRIRUT®I" (SNBIcArolt) XMeg BT SATAHR
foam farar?

1. Robert Whittaker / Ja¢ f@cdx
2. Ernst Haeckel / QT\‘% %‘W
3. Charles Darwin / T Slla:l

4. Arthur Tansley / MR T

Correct Answer :-
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« Emst Haeckel / QT\‘EC %W

16) Who is the author of Ashtanga samgraha (Summary of the Eight Branches of Medicine)
in Gupta period? / [ BT § ST GHUT (Rafe 1 3iTe raTsii &1 ARI) & dGH
o

1. Vagbhata / dTHg

2. Bhratahari / 'J-IT‘I_EFP{

3. Charaka / d¥h

4, Susruta / gHd

Correct Answer :-

+ Vagbhata / dTHS

17) Who was given the title of ‘Lakh Baksha’ (donator of hundreds of thousands) in early
medieval times? / YRTEH® AT H '0G TCR' (AP S| §9IRI BT GIaT) BT UMY foodt &t
g e

1. Balban / ddddq
2. Razia / IO/

3. Qutub-uddin Aibak / PIaI- UadH
4. Firoz Tughlaq / TR SUNEZ

Correct Answer :-

« Qutub-uddin Aibak / Pl UadH

18) Between whom was the Battle of Dharmat fought? / Y d BT & IGECACIC G3IT UT?
1. Aurangzeb and Dara Shikoh / RIS 3R ERT Rpg
2. Babur and Ibrahim Lodhi / ST&R 3R seH ateft

3. Akbar and Jahangir / 3{h &R 3R 0167‘“{

4, Akbar and Rajputs / [P dX 3R Qlwlﬂ\d\f

Correct Answer :-

« Aurangzeb and Dara Shikoh / 3T 3R GlIXI [§|$-|8

19) MOOC:s stands for: /@GﬁGﬁTﬂWm%
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1. Massive Open Online Courses / TR 319 TS DIl
2. Massive Open Orientation Courses / Bf¥g afg= HTRTTERM DT

3. Massive Online Open Courses / g QTS 3u B

4. Mobile Open Online Courses / W 3T ‘3‘I'T:IF‘I'|3_*T ﬁﬁ\_ﬂ

Correct Answer :-

« Massive Open Online Courses / ARG siiu GT\I/T'I'WETT ﬁﬁ\_ﬂ

20) amendment added a list of Fundamental Duties to the Constitution. /

e ey § Mt Bdo 1 te g Sisar g
1, 420d / 4271
2,39t / 397
3. 471 / 47T
4, 44 7 4497

Correct Answer :-

o 420d /207

21) Erosion by solution is termed as: / T a1 gIRT 3IURE $ HET STl &
1. Evorsion / @S

2. Cavitation / fg®ad

3. Abrasion / 3{TEYUl

4, Corrosion / J&Rul

Correct Answer :-

« Abrasion / 3TgYU[

22) Ramsar sites are the areas which are to be protected for wetlands. Which one is the first

Ramsar site in India? / IR ¥/ 9 &7 ¢ e myfir & fog wriga fer s 81 ya &
TSl ITER R B A1 82

1. Loktak Lake /?«hwsﬂa
2. Chilka Lake / RIe®1 3@
3. Vembanad Kol / 35S HId
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4, Kolleru Lake / ®iare Sid

Correct Answer :-

« Chilka Lake / RIem1 3ita

23) The curriculum principle that allows necessary changes in its content and methods as

per the changing needs and situations is ./ QT-IT uTeashH Rigid %, oIl Sgadl

IR RCIGIE]

1. Principle of integration / T 0l BT Rigid

2. Principle of flexibility / T BT Rigid

3. Principle of motivation / TR BT Rigia

4, Forward looking principle / e Riar &1 Rigia

Correct Answer :-

« Principle of flexibility / AU &1 RIGid

24) The teacher’s mental and emotional visualization of classroom activities is: / PET

nfausfadl & e $t aaRie o UIeATHS deae gl
1. Year plan / g g

2. Lesson plan / UTo LIS

3. Unit plan / STS 1ol

4, Resource plan / GHIYT BISE

Correct Answer :-

« Lesson plan/Uld BIGE|

25) The committee headed by Prof. C.H. Hanumantha Rao (1984) went into the question of
evolving methodology for planning. / ul. '\‘ﬂ@ Gﬁq?l' T & ST areit
Tt (1984) B fraeH & fore usfar fas e < &1 g1 3iur

1. District Level / ToTa TR
2. Village Level / UTH TR

3. State Level / I TR
4, Block Level / AP TR

Correct Answer :-
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« District Level / ToTaT T

26) Which Act drastically redrew the boundaries of states and territories in India,

organizing them along linguistic lines. / o siftfeam 3 yRa & sl ek &= & Wwreit
P BIBI g dP HH B 4T 3R I8 HIUTS JET13if & ITY HfRYd fpar

1. States Reorganization Act, 1956 / g TAifa SHfAfATW, 1956

2. States Reordering Act, 1959 / 1o T:3{shHUT UM, 1959
3. States Reordering Act, 1963 / X9 J:3[shHUT SHI&FIH, 1963
4, States Redrawing Act, 1957 / o8 G@ AfIfATH, 1957

Correct Answer :-

« States Reorganization Act, 1956 / 31s8 Qe+ HfAaH, 1956

27) Which among the following is not a criterion for writing Instructional Objective? /

Frafafea ® 9 = Fdzmere Sexa o & fou o1s arFds T8t 82
1. Specification of the learner / Rremf @1 fafryar

. o 2 [N
2. The nature of the school environment / Td<llefd % Hlgldd Al Hpld

3. The learner performance / fRremff w1 ue=H
4, Adequacy of instructional objectives / [BERUREED 3=l Bl e

Correct Answer :-

» The nature of the school environment / ﬁﬁlmém@ﬁ Al W

28) Which among the following models of teaching belongs to Social Interaction Family? /

FrafafEa & & Riemr o1 w1 a1 ufea g oia: frar ufar & Tefta 82
1. Inquiry Training Model / &aT® UfRIE&OIIdH
2. Non-directive Teaching Model / R fRreror gfaa™

3. Advance Organizer Model / 3O 3T UiHT

4, Partnership Learning Model / HT<IT ST gfqH™

Correct Answer :-

« Partnership Learning Model / HI<IT ST gfad=

29) Which battle was fought between Ahmad Shah Abdali and the Marathas in 1761? / 1761

o 3rgTe T 3rqTall 3R WRTST & T HIH-1T o 31T UT?
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1. Battle of Tarrain / ARIQT PI &
2. Battle of Khanwa / T-d[ &l &
3. Battle of Buxur / IeRIR dT &

4, Third Battle of Panipat / UM BT ol TG

Correct Answer :-

« Third Battle of Panipat / UMY T ﬂ?ﬂ’q g&

30) Which Jaina Saint is credited with introducing Jainism in South India? / ?.'{fz‘I'UT URAH

S e ) AT B BT 99 6T 9 T &) w1 82

1. None of the above / dLIf:J:OITI ) Cb-\lsrq_spl

2. Sthulabhadra / RJAIH%

3. Indrabhuti / SEHcI!
4. Bhadrabahu / H&dIg

Correct Answer :-

« Bhadrabahu / HgdTg

31) Where was the First Jain Council held by Sthulabahu? / ¥J[Adlg gRT UYH SRR

el gaTs s 4
1. Kasi / TR

2. Vaishali / d=ITat
3. Vallabhi / aeaiyfl

4, Pataliputra / tITEFﬂ'Eﬁ

Correct Answer :-

« Pataliputra / UI—C’?ﬁH;[

32) How can a social science teacher infuse affective outcomes among students? | ATHTITS

Oz Rrere o § GeRIHS URUmH & 8 YU B Iodl 8?2

1. Keeping the students intact through lecture method / SRS Ugfd & qrey § B Bl
3ffdhd T AR

2. Adopting collaborative learning inside and outside the class room / P &I & 3R 3R CIRR
TMHE® SMATH B SR
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3. Through story telling method on freedom fighters of social eminence / TSR 98T dTel
AT YT IR BT A Ui o HIeqd 4

4, Through the teaching of wars and conflicts through ages / ﬂ"ﬁ S| H?S(Pf 3R oSt & e &
AIEH Y

Correct Answer :-

« Adopting collaborative learning inside and outside the class room / &l & 3R 3R dlgr
Hfeh ST B (U

33) Which Article of the Constitution states that all authorities, civil and judicial, in the territory of

India shall act in aid of the Supreme Court? /ﬂﬁ?ﬂq & foy \"Hﬂ%ﬁ ;| CaJRIT % fPURa®
g gt wiitreor, e ok =i, Hal =amarerd &t 9eradT | ST S3?

1. 141
2. 134
3. 144

4. 114

Correct Answer :-
o 144

34) Which was the political party formed under the leadership of Kanshi Ram? / PIRIRM & ﬁ?‘!ﬁ

¥ P W v T tsd g At

1. Communist Party of India / HR mﬁE aref
2. Samajwadi Party / HToTare! aref

3. Rashtriya Janata Dal / T@q SERIRAN

4. Bahujan Samaj Party / quﬁ

Correct Answer :-
» Bahujan Samaj Party / meﬁ

35) NABARD stands for ./ TSTS BT YUl =4 gl

1. National Bank for Agriculture and Rural Development / T@'q w 3R urefiur 9Ty S

2. National Bank for Agriculture Reconstruction Development / Tl'gfq ?fﬁf EHEF‘#UT IR d%

3. National Board of Agronomy and Rural Development / ﬂ@q BIICEIR] 3R T g S8
4., National Board of Agriculture and Rural Development / QT@H qv—f@[ Td I e dis

Correct Answer :-
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» National Bank for Agriculture and Rural Development / TI'@'ET m 3R AT fapry d&

36) stated that ‘social sciences carry a responsibility of creating a strong sense of human
values, namely, freedom, trust, mutual respect, and generating in students a critical, moral and
mental energy, making them alert to the social forces that threaten these values’. / o AT

wiTaT 2 fop <amarfore fagm e g, srufq wadsran, faym, st v &t aeiga vraen
Y1 H3 3R BET &) TP Agayut, A ik Al Sul ter 31 9 ot fAurar g, s
I 597 Yol B! Wax H ST Tl YrATore WfdRTal & e Jad sRarg e

1. National Curriculum Framework NCF (2005) / QT@?J UTeud| B gl Qqﬁ@ﬁ (2005)
2, Commission on School Education / Wﬁf&ﬂ 3TNT
3. Education Commission 1964-66 / TRI&IT S{TINT 1964-66

4, The Curriculum for Ten Year School / &8 ITd & Ipd & fere uteash e

Correct Answer :-

 National Curriculum Framework NCF (2005) / TI@TJ BIEDERIRCI ST | T (2005)

37) is a type of unemployment wherein the workers are searching for new jobs and for a

temporary period they will be unemployed. / Th UPIR P RIS % forad =
TS ST B T B TG 3 SR TP SRATIT 3afy & forg d IRISR 8

1. Frictional unemployment / ST SRISIR
2. Seasonal unemployment / AP SRISTR
3. Structural unemployment / TRTATHD SRISATR]

4, Disguised unemployment / U=3¥ RIS

Correct Answer :-

» Frictional unemployment / ST SRISATR]

38) is a process that involves the assembling, storage, transportation, packaging and
distribution of different agricultural commodities across the country. / U ufspar % forad

2 W) # fafie oY aeg el & IO, Yeror, uitas, 3 sk faavor i g
1. Agricultural marketing / ?ﬁf fauume

2. Rural development / gt fare

3. Agricultural networking / Tﬁfw

4, Rural marketing / THToT fauur

Correct Answer :-

« Agricultural marketing / $1¥ fqUUE
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39) Who is the present Chief Economic Advisor to the Ministry of Finance Government of India? /

YR PR & 40 Ty & qau g1 ifd TaeedR o1 82
1. Raghuram Rajan / YYRTH IS
2, Kaushik Basu / aﬁmaﬁ

3. Krishnamurthy Subramanian / W{%W
4. Arvind Subramanian / 3Rfd¢ AU

Correct Answer :-

+ Krishnamurthy Subramanian /?fwﬁgaﬂmﬂ

40) Who is the present Governor of Reserve Bank of India? / HRAH ﬁﬁlﬁ:aﬁ? & TAH AR
P E?

1. Urjit Patel / 3fofd ued
2. Duvvuri Subbarao /W BSCSINE]
3. Raghuram Rajan / YYRTH ST

4, Shaktikanta Das / WW

Correct Answer :-

« Shaktikanta Das /WW

41) Who first adopted Micro teaching techniques? / J&H fRreror qe-IP] B gduyH fraa
STUATIn?

1. Dwight. W. Allen / §dT3¢ S, TaiH
2. Dwight Waldo / gdIgc qres!
3. Michael Brown / HIgh d SIS

4. Stanley John / LR NIRSIE]

Correct Answer :-

« Dwight. W. Allen / SaT3c S&¢4, TaA

42) Who is nicknamed as the ‘Milkman of India’? / "HRT & g7 TW BT IU-T {5 faar mar 32
1. Swaminathan / ST

2. Sambasivan / TRTRIGH

3. Verghese Kurien / Fiffer @F\“Ff

4. Hiralal Chaudhari / SRTATE TNeRt
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Correct Answer :-

« Verghese Kurien / ¥ S W

43) The concept of five year plans in India was adopted from which country? / HRd ERVECL )

I3 BT TR f5d G F S(UATs TS A
1. China / =M

2. England / $70S

3. Soviet Union / Wfdad 9

4, USA / Igad I5T AR

Correct Answer :-

¢ Soviet Union / ifega gy

44) AMUL stands for . / 379 (TTHYU) T Ui =4 2l
1. Anand Milk Undertaking Limited / 3G firew sfeveid faftics

2. Ahmedabad Milk Union Limited / 3[GHGTSTE fHeh g-a fefies

3. Ahmedabad Milk Undertaking Limited / 3@HaIdTG e 3fexcfd fafiice
4. Anand Milk Union Limited / 3¢ e uaﬁfﬁ faftres

Correct Answer :-

« Anand Milk Union Limited /3 [feh {ﬁmﬁ*f&l%@'

45) is an apex Indian governmental body created in 1964 to address
governmental corruption. / Uh Tai RO IR fFer % S RHRY YYPTAIR BT
TdT @ & T 1964 & S91m TAT|

1. Commission Against Corruption / YSTdR & I ST
2. Central Bureau of Investigation / 419 S-S0 &JR|

3. Anti-Corruption Bureau / H¥I<R foRieh W

4. Central Vigilance Commission / ﬁ’qm 3TN

Correct Answer :-

« Central Vigilance Commission / SHEIT b dT SR

46) is the highest court for criminal cases in a district. / TH o o smuRifres
ATHE! & T o) I <arTed 7l
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1. Court of the Sessions Judge / 94 =T o ey
2. Court of the District Judge / fSTe =amanefi=r &1 =marey

-~

3. Courts of Magistrates of First Class / UJH guft & AfSRe e &1 e

~

o

4, Courts of Magistrates of Second Class / facita goft & His¥cC bl UMdIely

Correct Answer :-

+ Court of the Sessions Judge / A IR BT =y

47) Which of the following intrinsically motivates a learner to learn? / FUfif@a # q @9
fTH & fore ue Rrenf & ggs U 4 IR Hear g2

1. Lots of homework / 3Tc¢h W
2. Rewards / UTeT&

3. Easy questions / ¢ Hdll
4. Interest in the topic / 00T & 3

Correct Answer :-

« Interest in the topic / Taoa #

48) Whose birthday is celebrated as ‘International Day of Non-Violence’ by the United

Natic;s(UN)? | I Y () GRT [pud Srafe ®1 'SiRigia sifgwn feaw & wu o w=man
STt 82

1. Martin Luther King /ﬂTﬁ_*f R fdr

2. Mahatma Gandhi / HgTET el

3. Jawaharlal Nehru / SIdlgX dld] %Qﬁ
4, Nelson Mandela / 9@ Hadl

Correct Answer :-

« Mahatma Gandhi / HgTEAT T

49) Annie Besant was a member of . / Tt a9 P e A
1. Ghadar Party / 7Ta} arf

2. Prarthana Samaj /DT*ITW

3. Arya Samaj / 31 THS

4, Theosophical Society / FRAhdHa ARITSCl

Correct Answer :-
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« Theosophical Society / FaEIhea gl

50) Who plays the main role of Guidance Services in School? / faeea ¥ ARieR JAarsi &1
T YfAeT Bie AT 32

1. Parent/ HTcI-fUdT

2. Social Studies Teacher / GTHISIh ST {R1&h
3. Principal / TR

4. Counselor / TRTHRIGTAT

Correct Answer :-

« Counselor/ CRIFIQiG dl

51) CANCELLED

What is the SDG (Sustainable Development Goal) rank of India in 2018? / 2018 H YRT B1
TSI (Tad e deT) Yo . 22

1. 130
2,124
3.112
4. 148

Correct Answer :-

o 112

52) CANCELLED

Which of the following country is in the third stage of Demographic transition model? /

Frafiafed # § o 91 X1 SRS HHHUI Hisd & (Y TR H §7?
1. Kenya / =1

2. Bangladesh / SRR

3. Peru / U=

4, Canada / h-TS1

Correct Answer :-

o Canada/ ®-ls]

53) CANCELLED
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Who coined the term Action Research? / TaRIH &l (ﬁﬂﬂ?q?ﬁ E\’ﬁ?-[) g B TT-T fbaq
D2

1. Stephen M. Corey / K- TH. HRI
2. Bruce Cooper / 8 ¢UR

3. Talcott Parsons / W@ IR

4, Kets de Vries / m SR

Correct Answer :-

« Stephen M. Corey / I T, DRI

54) CANCELLED

The approach of organizing curriculum which is more content centered is known as: /

TSAHH & ARG B BT VDI, Y ARwe: fvg-axg Fiea g, 39 ®eT ol B
1. Concentric approach / b lad PP

2. Topical approach / HR® 2D

3. Unit approach / —a'fﬂ—sc DI

4, Spiral approach / afta GRCAW

Correct Answer :-

« Unit approach / Wg BRI

55) “Roaring forties” are name given to wind in southern hemisphere commonly known as
which of the following wind. / “Tr@d dtfera RN wifdwy” gfémoft maned o aa= arelt ya= &t
fora e A @ o FReferiea § 9 59 ga1 & -9 & St 9 82

1. Westerlies / UG 3T Ud
2. Trade Wind / TR Ta (¢S dS)
3. Easterlies / uijua:r

4. Monsoon Wind / HIFYA Ud-

Correct Answer :-
» Westerlies / Ug 31 Ud-

56) Sir Thomas Stamford Raffles is known to be a founder of which of the following modern

nations? / TX YTHY WCHBIS e @l Frafifed d 9 fow snyfie Iy &1 dwime
| ST 82
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1. New Zealand / qvﬁﬁ‘er

2. Cyprus / HIgUY
3. Vatican City / dfesm R

4, Singapore / ﬁl"'ITFR
Correct Answer :-

« Singapore / ﬁlTITQT

57) Cyclones or hurricanes do not develop within about 50 N and S of the equator because? /

TehaTd T W, YL IWT & TTHT 50 N 3R s F iR fiwRya 78 gid € waife?
1. Ocean surface temperature is high / HH% Pl ddg hI dIuHIA 3feH @T‘IT%I

2. Trade winds converge / YIRS Ya- T R gldt %I

3. Pressure gradient is weak / GId YdUIdT HUGR Eﬁ?ﬁ %l

4, Coriolis force is very weak / BIRATT THTT dgd BN S\Idl %I

Correct Answer :-

« Coriolis force is very weak / BIRATT THIT ogd G G\Idl %I

58) Which of the following rivers does not flow into the Arabian Sea? / Fafafea T B

Ht 1) eRe AR # T gt 82
1. Tungabhadra / JITHGT

2. Narmada / THET

3. Mandovi / HTUSd!

4, Sabarmati / HTSRHG!

Correct Answer :-

« Tungabhadra / @"TW

59) The Vallarpadam Terminal, which is a container trans-shipment facility, launched in
February 2011. It is a part of which among the following ports? / BRaRY 2011 | RYURH
oo T geaRueH <fifFa, WY HeR Ndiarun (¢ia-Rude) gfawr 81 us Fafafea
T o § fraer ue fewar g?

1. Cochin Port / B §E1TE

2. Visakhapatnam Port / Ira-‘%II{QILIC\"IH S[er IR
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3. None of above / \N{idrl ER AR
4, Chennai Port/%l’?lé SIS

Correct Answer :-

« Cochin Port/ﬁiﬂ:f SIS

60) Dendrochronology is the scientific method of dating based on the analysis of patterns of
tree-rings. In a tree from which of the following zones, the analyzing the circles would be

most easy? / F&-TT (¢} F¥71) F Yo+ & fIRATUT & SMYUR TR JHPTAIH D SFET BT
amﬁﬁmaﬂmélﬁaﬁf@aﬁﬁmaa%wq&rﬁ,aaﬁmﬁnﬁwmm
SRIT BT

1. Temperate Zones / ofiar swicsy (%-J:EI:Q—Cr Gﬁ:f)
2. Taiga / %TIT

3. Tropical Rain Forests / SUGICs g auf g
4, Polar Tundra / %Jfﬁq gl

Correct Answer :-

« Temperate Zones / RIGIEYEATEL) (W Gh:f)
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